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Part-A (General English)

Questions : 1-100 Total Marks : 150

1.  Direct to Indirect Speech ;

He said to Mr. Y, "Mr. Z will leave for his native place tomorrow”,

(4)

(B)
(C)

v

He told Mr. Y that Mr, Z will leave for his native place
tomorrow

He told Mr. Y that Mr, Z left for his native place the next day

He told Mr. Y that Mr. Z would be leaving for his native place
tomorrow

He told Mr. Y that Mr. Z would leave for his native place
the next day

(E) Answer not known
2.  The positive form of Ramesh is the strongest man in the village is
(A) Ramesh is a strong man in the village
(B) Ramesh is a stronger man in the village
(C) Ramesh is the stronger man in the village
W27 No other man in the village is so strong as Ramesh
(E) Answer not known
3.  Fill in with the correct phrase :
The airhostess instructed the passengers to fasten the seat belts
during the
(A) shut down (B) work out
W& take off (D) warm up
(E) Answer not known
w 3 CCSEIVGE/2025
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4.  Which of the following sentences have gerunds?

(a) They began plaving
(b) They began to play
(¢} We prefer to take tea
(d) We prefer taking tea

@A) (a), (b) B) (), (©
(©) (a) (@) BT (), (d)

(E) Answer not known

B, Fill in the blank with a suitable infinite :

He is supposed for his examinations now, but he is

wasting his time relentlessly.

{A) have been studied \,Eﬁf to be studying
(C) tostudy (D) has been studied
(E) ﬁnswar not known

6.  Fill in with the correct regular verb :

“Both the officer and the worker the affected areas”.
(A) forgot VBT visited
(C) went (D) saw

(E) Answer not known
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9.

Transform the following exclamatory sentence into an assertive
sentence :

“What a spectacular goal!”

(a) Was it a spectacular goal?
(b} The goal was spectacular
(c) It was a spectacular goal.

(d) Why the goal was spectacular?
(A) (a) (B) (b)

U9 (© M) ()

(E) Answer not known

The negative form of “The Mission is accomplished’ 1s

(A) The mission is not over

(B) The misgsion is not finished

(C) The mission is not completed
W The mission is not accomplished

(E) Answer not known

“Cannot you find me some place convenient for laving my eggs” -
the statement form of this interrogative sentence is
(A) Provide me some convenient place for layving my eggs
(B) Which is the convenient place for laying my eggs
(C) This is the convenient place for laying my eggs
VBT Search a convenient place for laying my eggs
(E) Answer not known

5 CCSEIVGE/2025
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10, Choose the correct type of sentence ;

You leave today.

M Imperative (B) Interrogative

(C) Declarative (D) Exclamatory

(E) Answer not known

11. Select correct active form for the sentence :
“Our army has been defeated by the enemy”,

(A) The enemy was defeated our army
(B) The enemy was defeated by our army

V(-EJ" The enemy has defeated our army
(I} The enemy had defeated our army

(E) Answer not known

12, Find out the correct tense form of the verb from the options given

below :

I got up early and a shower.

(A) have _ (B) am having
M(E}" : had (D) was having

(E) Answer not known
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13.

14,

15.

Which of the following British English words are correctly paired
with the American English words?

(1) Spanner - Wrench

(2) Hoover — Nonsense

(3) Bollocks - Vacuum

(4) Hairslide — Barrette

(4) (1) and (2) &7 (1) and (4)

(C) (2) and (3) (D) (3) and (4)

(E) Answer not known

PDA stands for
M Personal Digital Assistant
(B) Personal Development Agency
(C)  Personal Data Authority
(I Personal Data Array
(E) Answer not known
Match the following :
Column A Column B
(a) Careful 1. Verb formed from a noun
(b} Teach 2. Noun formed from a verb
(c) Writer 3. Noun formed from an adjective
(d) Kindness 4. Adjective formed from a verb
@) () (© ()
(A) 1 2 4 3
(B) 3 1 2 4
wer 4 1 2 3
Dy 2 1 3 4
(E) Answer not known
7 CCSEIVGE/2025
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16. Choose the correct meaning of the given phrasal verb in the context
of time :

Run out

(A) Time given for something to be done
(B} Insufficient time
v&e) Esxceed the allotted time
(I Finish before the given time
(E} Answer not known

17. Match the following idioms in Column A with their meanings in

Column B:
Column A Column B
{a) Fall out to collapse
(by Fall for to come into collision

{c) Fall flat
(d) Fall foul of

(@) (b)) (@ (d

vield to its charms
to quarrel

e L

e 4 3 1 2
B 2 4 3 1
@ 1 § 4 8
2 3 1 4

(E} Answer not known

18, Find out the suitable word for the underhned collocation in the
following sentence.

It rains cats and dogs.

(A) Strongly ) Heavily
(C)  Speedily (D) Fast
(E) Answer not known

CCSEIVGE/2025 & )



19. Read the passage and replace the underlined words with their
‘antonvms given in the options.

Ram is a (1) robust person born to (2) affluent parents. His
(3) odious behaviour and habits had an effect on his physical and
mental (4) agility which made him to look (5) gaunt.

(a) Pleasant
(b} Awkwardness

(¢) Portly
(d) Weak
(e) Poor

(&) (1(e) (2)-(e) (3)-(a) (4)-(b) (5)-(d)
(B) (1)-(a) (2)-(d) (3)-(c) (4)-(e) (5)-(b)
VBT (1)-(d) (2)-(e) (3)-(a) (4)-(b) (5)-(c)
(D) (1)-(b) (2)-(e} (3)-(c) (4)-(a) (5)-(d)

(E)  Answer not known

20. Which of the following synonyms are incorrectly paired?

(1) Gregarious — A person who walks unsteadily

(2) Glutton — A person who eats too much

(3) Groggy — A person who likes to be with others
(4) Gourmet — A person who enjoys food

(A) (1) and (2) 87" (1) and (3)

(C) (3and(4) . (D) (1) and (4)

(E} Answer not known

21. An interchange of two elements in a phrase or sentence from a more
logical to a less logical relationship

\,{ﬂ‘f Hypallage (B) Malapropism

(C) Metaphor (D) Simile
(E) Answer not known '

()] - 9 CCSEIVGE/2025
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22, Text

E-governance can empower citizens to participate in
climate action by providing platforms for feed back,
collaboration and reporting environmental concerns.

Question : How can e-governance enhance citizen engagement

(a)
(b)

(c)

(d)

(A)
(€

(E)

in climate change initiatives?
Providing online forums for citizens to share ideas.

Enabling citizens to report illegal dumping or puljutiun
ncidents.

Offering online tools for citizens to caleulate their carbon foot
print,

Replacing all traditional in-person meetings with online

SUrvVeys.
Only (c) BT (a), (b) and (c)
Omnly (d) (D) All of the above

Answer not known

23. Maria always carries an umbrella in her bag. Today, despite clear

skies, she brought her umbrella to work.

What can be inferred about Maria?

(A)
(B)

T

(I
(E)

Maria forgot to check the weather forecast

Maria is superstitious about umbrellas
Maria expects it to rain later
Maria doesn't like sunny days

Answer not known

CCSEIVGE/2025 10 )



24, Rearrange the jumbled sentences :
{a) Taking a few steps back, the fox jumped and just missed the
hanging grapes. '

(b)  Finally, giving up, the fox turned up his nose and said “They
are probably sour anyway™ and proceeded to walk away,

(¢} One afternoon a fox was walking through the forest and
spotted a bunch of grapes hanging from over a lofty branch.

(d) Again the fox took a few paces back and tried to reach them
but still failed.

(e} “Just the thing to quench my thirst”, he thought.

(A) () @) (@) (© (e)
WvBT (©) (@ (a) @) (b)
() (a) () (b) (d) (e)
(D) (b) () (e) (d) (a)

(E) Answer not known

25. What type of letter is used to request information about a product or
service?
(a) Inquiry letter
(b) Sales letter
(e} Personal letter
(d) Resignation letter

a7 (a) (B) (b)
(C) (e) (D) (d)

(E) Answer not known

w 11 CCSEIVGE/2025
[Turn over



26. BScenario @ A government agency 1s updating its website to include
downloadable forms. They want to ensure the
instructions for completing the forms are clear and

professional.

Question : Which of the following instruction best reflects the
principles of official correspondence?
(a) dJust fill this out and send it in, no big deal.
(b) You gotta put your info here, then sign there and you are good
to go.

(c) Please complete all sections of the form using legible hand
writing or typed text. Submit the completed form along with
the required supporting documentation.

(d) Write vour name and address, then do the rest however you

want.
(A) (a) and (d) B only (c)
(C) (b)and (d) (D) only (d)

{E_} Answer not known

27.  Find the smitable words :

The ' clouds signaled an approaching storm.
(A) Heavy ‘B‘if Menacing
(C) Impurity (D) Dark

(E) Answer not known

CCSEIVGE/2025 12 {}]



28.

29

Scenario: Ms. Privanka is seeking assistance and information
regarding services for differently-abled individuals in

the state,

Match Ms. Priyanka’s needs with the appropriate department,
Column A Column B
(Ms. Privanka’s needs) (Departments)

(a) Ms. Priyanka needs to 1. Department of social welfare
ohtain a disability and women empowerment
certificate and access
related benefits

(b) Ms. Privanka seeks 2. Directorate for welfare of the
information about Differentlv-abled

educational scholarships
and vocational training
programs for her

differently-abled child
(¢) Ms. Priyanka wants to 3. Department of labour and
report accessibility employment

1ssues in public buildings
and transport
(d) Ms. Privanka is looking 4. Department of municipal
for information administration and water
on self-employment supply
schemes and finaneial
assistance for differently-
abled entreprencurs

@ () (© (d)
2 1

(A 1 3
w2 2 1 4 3
(C) 3 4 1 2
D)y 4 2 3 1
(E) Answer not known
Fill in the blanks :
————— refer to a situation where borrowing money from banks,
and other financial institutions becomes difficult, often due to rising
interest rates on a general economic downturn
&7 Credit squeeze (B) Credit transfer
(C) Credit control (D) Credit creation
(E) Answer not known
13 CCSEIVGE/2025
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30. The process of hiring and managing employees is called

@)
B)
S
D)
(E)

Technical Management
Performance Management
Human Resources Management
Evaluation Committee

Answer not known

31. Passage: Smart home technologies aim to simphfy daily life.

They offer increased convenience and efficiency. User-
friendly interfaces are essential for widespread
adoption. The goal is to empower individuals through

technology.

Question : Which of the following statements best describe the

(A)
(©)
(£)

author’s purpose in the passage?

to eriticize the complexity of amart home technologies

to highlight the benefits of smart home technologies

to emphasize the importance of user-friendly interfaces

to advocate for the empowerment of individuals through
technology

(b), (&), (d) V7 (b), (), (d)

(a), (c), (d) (D) {a), (b), (c)

Answer not known

CCSEIVGE/2025 14 ()]



32. Passage: A solar eclipse happens when the moon blocks the sun.
This causes temporary darkness. It requires the Sun,
Moon and Earth to align. The result is a shadow on
Earth.

Question : Which of the following statements accurately define or

explain terms from the passage?

{a) A solar eclipse is when the Earth blocks the Sun.
(b) A solar eclipse is when the Moon blocks the Sun.
(¢} Alignment of the Sun, Moon and Earth is required
(d) A shadow on Earth iz a result of a solar eclipse

A (M), (a), @) Vi) (b), (c), (d)
© (), (@), () @) (@), (), (@), (©)
(E) Answer not known

33. Complete the following sentence, choosing the appropriate word

from the options given.

1 can the presence of something rotten in the room.,
\‘m Nose out (B) Nestle up
(C) Nail somebody down (D) Nuzzle up

(E) Answer not known

w 15 CCSEIVGE/2025
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34. Match the words in Column A with their suitable synonyms in

Column B ;

Column A Column B
{a) dissonance 1. abnormality
{(b) esoteric 2. mockery
(c) lampoon 4. abstruse
(d) 1diosyncrasy 4. - discord

(a) (b} (e} (d)
A 1 2 3

4
vi 4 3 2 1
© 3 2 1 4
™ 2 1 4 3

(E) Answer not known

35. In the given dialogue, some questions are underlined. Identify their
type and mark ‘A’ if it is a strong question and ‘B’ if it i1s a weak
question.

Anu  : Dear friends, how can we celebrate women's day?
Malar : Please clarify. Where and how are we going to celebrate?

Anu  : It must be celebrated in a prand manner.
Malar : Shall we identify the venue?

Anu  : JEM Palace.

Malar : Will it be available?

Anu : Yes.
WO AABB B) A BB A
€ ABAB D) BB A B

(E) Answer not known

CCSEIVGE/2025 16 ()]



36.

37.

Passage: A new social media platform gained rapid popularity
among teenagers. Concerns arose about data privacy
and the spread of misinformation. Despite these issues,
the platform provided a space for creative expression
and fostered online communities.

Question : Based on the above scenario, which of the following
statements are most likely to be true?

(a) The platform is universally considered harmful.

(b)  The platform has both positive and negative impacts.

(¢} The platform is primarily used for educational purposes,

(d) There are significant concerns about the platform’s ethical

implications.

(A) both () and (b) A7 both (b) and (d)

(C) both (a) and (d) (D} both (b) and (c)

(E) Answer not known

Passage: The city's rapid expansion led to increased - traffic
congestion and air pollution. Public transport systems
were overwhelmed, and green spaces were replaced by
concrete structurezs for the growing population.
Residents complained of rising stress levels and a loss of
community feeling.

Question : Based on the given passage, which of the following
statements 18 most likely to be true?

(a) The city is focused on preserving its historical landmarks.

(b) The city is experiencing negative consequences of unchecked

growth.

() Residents are actively involved in urban planning decisions.

(d} The city's infrastructure is strupgling to keep pace with its

population.

(A) both (a) and (b) (B) both (a) and (d)

@7~ both (b) and (d) (D) both (b) and (c)
(E) Answer not known
17 CCSEIVGE/2025
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38. Passage : The advent of remote work changed employment.

Question :

Seamless collaboration rose with technology, Flexibility
increased, vet isolation concerns grew.

Which of the following statements aceurately reflect the
meaning of the underlined word(s) as used in the
passage?

(a) ‘advent means the gradual decline of

(b) ‘seamless’ means smooth and without interruption
(c) ‘flexibility’ refers to the ability to adapt
(d) ‘isolation’ means the state of being alone

(A)  (a), (b), (c), (d)
(B} (b) and (c)

Wwel ), (©, )
(D) only (d)

(EY Answer not known

39. Passage :

HQuestion :

The relentless surge in global temperatures paints a
stark picture of our planet’s future. Melting glaciers,
raging wildfires and unprecedented floods serve as grim
reminders of the escalating crisis. A sense of urgency
pervades scientific reports, echoing the desperate need
for immediate and decigive action. The window of
opportunity to mitigate the catastrophic effects of
climate change is rapidly closing, leaving behind a
legacy of irreversible damage.

Which of the following words and phrases contribute to
the mood of the passage? '

'\m ERelentless surge
(B) Paints a stark picture

(C) Legacy of irreversible damage
(D) Balanced and calm
(E) Answer not known

CCSEIVGE2025
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40, Bhsdr mamier Hfs0s0 Haanurgs Qanemgmidiserr?

41.

Choose the correct English sentence from the options given, which

best conveys the meaning of the sentence below

(A) Did you play cricket along with him?

(B)

Had you played cricket along with him?

\‘691' Were you playing ericket with him?

(D) You played cricket along with him?

(E} Answer not known

Sentence : The meeting will have been scheduled by the time we

arrive,

Question : Which of the following Tamil sentence best conveys the

(a)
(b)
(c)
(d)

(A)
(C)
(E)

meaning of the given sentence?
B eumbGung snc b S bl o Gib.

B embGLINgG s b S B g muuniEer.

Emb e Gurg: s b Sl Ll Gulf Bimasib.
Erib aumbGung sl b S SEEpriser.
(b) and (a) yﬁfﬂnly (c)

only (a) | D) only (d)

Answer not known

19 CCSEIVGE/2025
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42. Passage : The company needs to ‘develop’ a new strategy. They

want to ‘develop’ the land for a new factory.

Question : Which of the following Tamil translations are

(a)
(b)
II::]

appropriate for the word ‘develop’ 1n the given
sentences?

SuETTES

o (THEUTEE
GuibuBiEs
5r_1q.ﬂ§lu.s@ I

\yo’ Both (b) and (d)

[’E}
(D)

(E)

Both (b) and (¢)
Both (a) and (c)
Both (a) and (d)

Answer not known

43. Which of the following statements are incorrect?

(L)
(2)
(3)
(4)

o
(B)
(C)
(I
(E)

The play, “The Tempest” was written between 1610 and 1611,
“The Tempest” was not based on any actual incident.
Shakespeare had penned 10 sonnets.

Prospero dismissed Ariel from his service before he left the
island.

(2) and (3) are incorrect

(1) and (4) are mcorrect

Only (2) is incorrect

(1) and (3) are incorrect

Answer not known
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44, Match the categories in Column A with the words in Column B :
A B

(a) Abbreviations 1. Bat, Bat

(b} Acronyms 2. Aloud, Allowed
(c) Homonyms 3. WHO, PAN
(d) Homophones 4. ATM, CEO

(@ M) «© ()
(Ay 3 4 2

V(qual

1
2
e 2 1 4 3
D 1 2 3 4
(E) Answer not known

45. Which are the following statements are true about
“Sir. C.V. Raman”?

(1) Sir. C.V. Raman was an Indian physicist.

(2) Sir. C.V. Raman was honoured with the Bharat Ratna Award,

(8) Sir. C.V. Raman’s birthday is celebrated as “National Science
Day”.

(A) (1) only
(1) and (3) only

\'ﬁ?}’ (1) and (2) only
(D) (2) and (3) only
(E) Answer not known

@ 21 CCSEIVGE/2025
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46. Choose the correct option :
What did the young seagull do, when his parents beckoned to him?

(1) He began to swoop
(Z) He screamed with fright and attempted to rise again
(3) He answered with another scream

(4) He sank his feet into the green sea

(A) (1)and (2) (B) (2) only
(C) (1)and (3) W) (2) and (4)

(E} Answer not known

47. Identify the figure of speech in the following poetic line :

‘They growl at the rain and they
growl at the sun’.
(A) Epithet
(B Contrast
W€ Anaphora
(I} Oxvmoron
(E) Answer not known

48. Which 1s the largest planet in the Solar system?

(A) Mars
(B) Saturn
(C) Uranus

\‘[;B( Jupiter

(E) Answer not known

CCSEIVGE/2025 22



49.

al.

al.

Choose the correct ‘Synonym’ by matching Column ‘A’ and
Column ‘B’ :
Column A Column B
(a) strife 1. futile
(b) endure 2. disagreement
(¢) wvain 3. undergo
(d) accents 4. emphasise
fa) () (© (d)
@ 1 2 3 4
By 3 1 4 2
v 208, 1 4
mm 4 2 1 3
(E) Answer not known
[dentify the figure of speech employed in the following lines.
Born of despair with a sudden spring.
(A)  Anaphora Hﬂrﬂlliteratinn
(C) Assonance (D) Consonance
(E) Answer not known
Choose the correct answers.
R.L. Stevenson's famous works are
(1) Treasure Island
(i1} ‘The Lamb’ and ‘The Tiger’
(iii) Kidnapped
(iv) The Jungle Book
(A) (i) only (B) (i) and (iii) only
v‘.@ﬂ" (i) and (iii) only (D) (i) and (iv) only
(E) Answer not known
23 CCSEIVGE/2025
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52. Choose the suitable answer :

If a writer uses a word or phrase in a special way, he/she can write

itin

(a)
(b)
(c)
(d)

(A)
(C)
(E)

Parentheses
Quotation marks

Square brackets

Dash
(a) wB) (b)
(c) D) (d)

Answer not known

53. Which of the following sentences is a correct synthesis using an
appropriate conjunctive adverh?

Sentence 1 :  The assignment was due last week.

Sentence 2 :  We did not submit it on time.

(a) The assignment was due last week: consequently, we did not
submait 1t on time

(b} The assignment was due last week, so we did not submit it on
time

(¢) The assignment was due last week, because we did not submit
it on time

(d) The assignment was due last week and we did not submit it on

time

(a) (B) (b)
(e) (D) (d)

Answer not known
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54. Identify the Complex Sentence :

(A) He was tired and so he could not walk

(B) - He was too tired to walk

\g?{ He was so tired that he could not walk
(D) Being tired, he could not walk
(E) Answer not known

55. Which of the following statement has the correct question tag?
(a) Ineedn't play, needn't I?

(b) Let’s play, shall we?

(¢c) 1am older than you, am I?

(d) He was asleep, did he?

A) (a) @ ®)
@ (0 (D) (d)
(E) Answer not known

56. Identify the correct option for the given question :

A participle is a/an formed from a verb.
( Adjective (B). Adverb
(C) Noun (D} Preposition

(E) Answer not known

® 25 CCSEIVGE/2025
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57. Which of the following sentences uses both a main verb and an
auxiliary verh?

(a) She dances beautifully

(b) They are singing

(c) She reads fast

(d) Students eat dinner together.

@ () B ®)
© (© (D) (d)
(E) Answer not known

58, Choose the correct appreciative statement for the following
imperative :

“Take time to review your work”.

(A) Reviewing your work is essential

(B) Make sure you review your work thoroughly

(C) It's important to review your work

\{D’)’ I value the effort you put into reviewing your work

(E) Answer not known

589, The interrogative form of ‘Shut the door’ 1s

M Who will shut the door? (B) Who shut the door?
(C) How the door will shut? (D} You shut the door,

(E)  Answer not known
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60. The imperative form of the following statement ‘T am lonely’ is

61.

62,

vk‘tf Have pity on my loneliness

(B)
(©)
(D)

(E)

I am lonely
I have no company
I have no friends

Answer not known

What an ugly picture! is an

\‘Uﬂ’ Exclamatory sentence

(B) Assertive sentence

(C) Negative sentence

(D) Interrogative sentence

(E) Answer not known

‘Don’t be angry with us God' - is an sentence.
(A) Affirmative ‘.@Hrimperative

(C) Interrogative (D) Exclamatory
(E) Answer not known

2 CCSEIVGE/2025
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63. Which of the following does not exhibit subject — Verh Agreement?

vl I wonder if either of the boys were present
(B) Much of what you say is correct
(C) The pool and lotus is a beautiful building
(D) He is one of those men who hate smoking
(E) Answer not known

64. Which of the following sentences uses the conjunctions to connect
the clauses correctly?

(A) Although it was raining but we decided to go for a walk

\W she wanted to go for the concert yet she had to finish her
homework fast

(C) He studied hard for the exam so because he wanted to achieve
a high score

(D) Neither the Manager nor the employees was aware of the
- changes in policy
(E) Answer not known

65, Identify the figure of speech of the following phrase.
He has just got some new wheel.

(A) Paradox (B) Personification

.JQ'}’ Synecdoche (D) Imagery
(E) Answer not known

66. Which of the following is an action-based and sport related
compound word that involves movement?

(a) Foot print
(b) Skateboard
(c) Back pack

(d) Lifeguard
(A) Only (¢) @) Only ()
(C) Both (a) and (b) (D) Only (d)

(E) Answer not known
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67. Choose the correct plurals given in the options and fill in the blanks.

(1) The _ (1) is for more people to work part-time in the future.
(2) Wearehaving _ (2) casserole tonight.

(3) Smoking is not allowed on the _ (3)

(4}  We discussed the success _ (4)  together

Options :

A B C D
(1) Prognosis Prognoses Prognosus Prognos
(2) Tuna Tunas Tunae Tunii
(3) Premisis Premisus Premises  Premisas
(4) Criterion  Criteria Criterius  Criterian

(A) (-B @2)-B (3F-A (4)-A
(B) (A @)-C (3)-B (4-A
€ 1-C @A (@A @)-B
Wi (D-A @A (3)-C (4)-B

(E) Answer not known

68. Which of the following word is incorrect in the context of the
sentence?

“After the team’s success, the coach felt a great sense of
for his player’s performance”,

(A) Exhilaration (B) Exultation

& Exasperation (D) Ecstasy
(E) Answer not known

69. Fill in the blanks with correct spelling.

“The restaurant offers a wide variety of delicious o
W& Victuals (B) Victuls
(C) Victuels (D) Vistuals

(E) Answer not known
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70. Sathyan knew he had the trail sometime ago, but

couldn’t remember exactly when he had it
(a) Passed

(b) Past

{c) Pause

(d) Paws

(D) (d) and (e)

(E) Answer not known

71. What is the plural form of ‘Cactus’ in English? (Not the Latin Form)
(A) Cactuse
\M Cactuses
(C) .Cacts
(D) Cactose

(E) Answer not known
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72. Match the one word substitute in Column A with a suitahle

explanation in Column B and select the correct answer from the

code given below :

Column A
{a) Amnesia

(b) Insomnia

(c) Loquacious
(d) Pathology

(a) () (o

® 3 4 1
V(-B}" 4 3 2
-1 w B
m 1 2 4

e b o

(d)

2
1
2
3

(E) Answer not known

Column B

A study of disease
A continuous talker
Loss of sleep

Loss of memory

73. Fill in the blank with suitable word.

I_______ mypuppyin the

(A) bathe, mug

(B) wash, bucket

A4€7 bathe, tub

(I} bath, tub

(E) Answer not known

a1
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74. A student wishes to suggest an improvement to the college library
resources. The best way to phrase the request to the librarian is :
(a) The library has no good books
(b)  You should buy more books
(c} The library is terrible

(d) I've noticed that the library's collection lacks recent
publication in the field of Artificial Intelligence. Would it be
possible to expand the collection with my researched-hst of
latest publications

(A) {a) (B) (b)

©) (@ WBT (@

(E}) Answer not known

75. In the following sentence ordering, the first (S1) and the sixth (S6)
sentences of a passage are already provided. The middle four
sentences are shuffled up; they are labelled P @ R and S. Rearrange
these four sentences and choose the correct order

51: Once, a renowned writer, decided to unravel the secrets of an
ancient manuscript.

P: This however, exposed that the writer had intentionally
modified a few passages, leaving room for multiple
interpretations.

Q: Apparently, the discovery sparked a heated debate among
experts.

R: The manuscript, filled with enigmatic knowledge, had
perplexed generations of researchers.

S5: Moreover, the writer delved deeper to unravel the cryptic
meaning and symbols.

=6 ;. Eventually, the writer's quest for knowledge resonates with
the multiple interpretations of experts.

(A) S81,8,R,Q,P, S6 (B) S1,P, Q, 8, R, S6
(C) 81,P,R,Q,8S, 56 ) SLR,S,P,Q, 86
(E) Answer not known
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76. Write a letter to the editor of a journal about the stagnant rain
water issue in your area. Write the format of the letter,

1.

(a)
L)
(c)
(d)
(e}
()

(g)
(h)

(4A)

(<)
)
()

Salutation

Date

Receiver's address
Signature

Sender’s address
Subject

Body of the letter
Complementary close

(), (g), (h), (d), (a), (c), (b), (&)
(e), (b}, (c), (a), (£, (g), (h), (d)
(d), (h), (g), (c), (a), (), (b), (e)
(a), (e), (b, (c), (), (d), (h), (D

Answer not known

Scenario : A citizen has sent an email to a government agency

requesting information about a public program. The
agency's policy is to respond with official letters.

Question : Which of the following actions best demonstrates

(a)
(b)
(c)

(d)

(A)

(E)

adherence to official correspondence procedures?

Replying to the email with a brief, formal response.
Calling the citizen to provide the information over the phone.

Drafting a formal letter on letter head, including all necessary
elements and mailing it to the citizen.

Forwarding the citizen's email to another department without
A response

(d) only (B) (c) only
(a) and (c) (I} (b) only

Answer not known
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78. Money set aside by a legislative body for some government

expenditure is a/an i
W Appropriation (B) Bipartisan
(C) Budget (D) ‘Amalgamation

(E) Answer not known

79, Scenaro:

A citizen has contacted a Government office
secking clarification on a new policy.

Instruction(s): Match the general term used by the citizen with
the appropriate official term the citizen should
use,

Column-A Column-B
(Citizen's General Term Usage) (Appropriate Official Term
Usage)

(a) Can you tell me how to 1. Is there a procedure to

fix this form? appeal this decision?

(b) I need to get a copy of 2. What are the regulations

my records for thas program?

{c) What are the rules for 3. Can you tell me how to

this program? rectify this form?

(d) Is there a way to appeal 4. T need to obtain a copy of

this decision? my records
(a) (b)) (o (d)

(A) 2 1 3 4

(B) 1 2 4 3

@ 4 8 1 2

v 3 4 2 1

(E)  Answer not known
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80. The term “Compliance” means

v@tf Adhering to laws, regulations and policies

(B)
(C)
(D)
(E)

Adhering the violations
Denial
Adhering the differences

Answer not known

81. Match the term 1n Column A with its correct defimition in Column B :

Column A Column B
(Terms) (Definitions)
(a) Appropriation 1. a system of government where decisions

are made by state officials

(b) Bureaucracy 2. a person employed in the public sector
(e} dJunsdiction 3. the official power to make legal
decisions and judgments

(d) Public servant 4. money set aside for a specific purpose

(@ () (e ()

Ay 1 2 4 8
v o4 1 3 2
© 3 4 2z 1
@ 2 3 4 1

(E) Answer not known
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82, Passage: E-governance reduces physical paper work. Online data

storage enhances security. This facilitates faster service
delivery. Increased digital literacy 1s essential for
widespread adoption,

Question : Which of the following conclusions can be drawn from

(a)
()
(c)
(d)

(A)

e

(E)

the passage?
E-governance increases physical paper work
Online data storage improves security.
Increased digital literacy is eruecial for e-governance success.
E-governance slow down service delivery

(a), (b) (B) (b), (d)
(b), (c) (D) (a), (d)

Answer not known

83, Passage: NASSCOM and similar global associations both

represent tech sectors. NASSCOM focuses on India,
others on regional or international markets. Both
advocate the growth of the industry. NASSCOM's
influence 1s primarily within India, others have a
broader reach.

Question : Which of the following statements accurately compare

(a)
(b
(c)
(d)

(A)

(C)
(E)

NASSCOM and similar associations as described in the
passage?
NASSCOM and global associations represent different sectors
NASSCOM and global associations represent tech sectors
NASSCOM’s influence is primarily within India
Global associations have limited reach

() and (d) W (b) and (0)
{¢) and (a) (D) (d) and (b)
Answer not known
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84. Complete the sentence below, choosing the suitable pair from the

given options :

~The __ are insufficient to implement the new education policy

in rural areas.

(A) Wash out

\’ﬁﬂ‘ Ways and Means
() Answer not known

(B) Ways and Vows
(D} Built in system

85. Passage : The bustling market place was a symphony of sounds
: . and smells, vendors called out their wares, a mix of
spices filled the air and the chatter of customers created
a lively hum. Colourful textilezs hung from stalls and

fresh produce was piled high.

Question : Match the deseription to the element of the market

place.

Match the various aspects of a market place in Column A, with their

purpose in Column B :

Column A

(a) Vendors calling out
their wares

(b) Spices filling the air
with their smell
(c) Chatter of customers

(d) Colourful textiles
hanging from stalls

a) (@) (e} (d)
@ 1 4 3

@j" 4 3 1

(C) 2 1 4
)y 3 1 2

(E) Answer not known

= L B D

Column B
creates a hively hum

appeals to the sense of sight

appeals to the sense of smell
indicates commerce and trade
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86. The Vibrant city streets were alive with the sounds of laughter and
music as people celebrated the annual festival. Colourful
decorations adorned the buildings and food stalls offered a variety of

delicious treats from different cultures.

Which question 1= most smitable based on the given passage?

(A)
(B)
(&)

v(m’

()

What colours were chosen for the decorations in the city?
What time do the fireworks start?
What is the name of the annual festival being celebrated?

What type of food is being sold at the food stalls in the
festival?

Answer not known

87. Which of the following guestions cannot be categorized under the
type “weak questions”?

(1)
2
(3)
(4)
(5)

A)
)
(C)
®)
(B)

Are you sure yvou are okay?

What ig yvour biggest weakness?

Ever had a crush?

Does she have a qualifying degree for this job?

How will you repay your loan, without a job?

(1) and (3)
(2) and (5)
(3) and (5)
(2) and (4)

Answer not known
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88. The ocean is a vast mysterious place, home to countless species of

89.

marine life. From colourful coral reefs to deep sea creatures, the
underwater world is full of wonders waiting to be explored. As we
learn more about the ocean, it becomes clear that protecting this
vital eco system is essential for the health of our planet.

Which question is related to the given passage?

(A) What type of boats are commonly used for fishing in the

ocean?

\(B)/ Why is protecting the ocean ecosystem vital for the health of

our planet?
(C) What is the name of the deepest part of the ocean?
(D}  Which ocean is known for having most shipwrecks?
(E) Answer not known

A small town of Brooksville is famous for its annual harvest festival,
which celebrates the local forming community. The festival features
pumpkin carving contests, hayrides and a petting zoo.

Which of the following activities iz ‘NOT mentioned’ as part of the
festival?

(A) Pumpkin carving contests
(B) Hayrides
{9 A talent show

(D) A petting zoo
(E) Answer not known
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[Q.No. 90-92] Vitamin C 1s an essential ingredient for human

beings. It 1s required for the synthesis of intercellular cement

“collagen™ which iz responsible for keeping various cells of the
human body together. As an oxidant, it acts like a cop in the body,
apprehending the rowdy molecules called free radicals.

The richest source of Vitamin C is amla. The other sources are

lemon, orange, papaya, pineapple, cabbage, cauliflower, green peas
and tomato. While cooking above 7T0°C Vitamin C gets destroved.

90. Vitamin C is important for us because it is,

R
(B)
©
)
(B)

Required for intercellular cement collagen
Required for evervday activity

Requmed for digestion

Required for metabolism

Answer not known

1. What does the word ‘Cop’ mean in the given context?

(A)
(©
(E)

Doctor (B) Nurse
Nutritionist \_;B'f Police

Answer not known

92. What 1s amla rich in?

(A) Vitamin A (B) Vitamin B
@ Vitamin C (D) Vitamin D
(E) Answer not known
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H3. mprnenen wrener 6 weanfl apsd T wenll eeny pren Sfl&bs dlearuimas
(Gl edtmig L1 Guag,
Choose the correct translation of the sentence given from the
options listed.

VO( [ will be playing cricket between 6 pm and 7 pm tomorrow

evening,

(B) I am playing cricket between 6 pm and 7 pm tomorrow

evening.

(C) I will have been playing cricket 6 pm to 7pm tomorrow

evening.

(D) I would have been playing cricket between 6 pm and 7 pm

tomorrow evening.

(E) Answer not known

94. How much will be the accuracy level of real-time language

translation within five seconds of receiving the input?

(A) 80%
(B) 100%
Jer 85%
D) 96%

(E) Answer not known
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95, Fill in the blanks using the suitable words given in the options.

The old man had been suffering with a severe nervous disorder. He
(1) in pain and _ (2) . However _ (3)  while walking. On
seeing his old friend he was _ (4) and _ (5)  him with hope to get

some help.

(1) tottered over

(2) startled

(3) grunted

(4) approached

(5) stumbled

@ 6),©, @, 0, @ ®) (), 6), (3), @), ()
© 3,6, 1)@ W) (3). (1. (). (2). 4)
(E) Answer not known

96. Which of the following statements are true about ‘Turtles'?

(1)
(2)
(3)
(A)
(B)

(I
(E)

Sea Turtles live their life entirely in the ocean.
There are six species of turtles in the world.

Turtles come ashore to lay eggs.

(1) only

(2) and (3) only
(1) and (3) only
(1) and (2) only

Answer not known
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98,

Fill in the blanks using the words given in the options.

Sachin often tried to

players. He wanted to

the remarks in his
Achrekar Sir's

(1)
(2)
(3)
(4)
(4)
(C)
(E)

Pursue
Emulate
Farsightedness
Stride

(1), (2), (4), (3)
(31, (2), (1), ()

Answer not known

the mannerisms of his favourite
cricket seriously. He had to take
. On the whole, he could admire

& (@, (1), @), (3)

() (4), (2), (1), (3)

Choose the right matches among these :

(1)
(2)
()
(4)
(4)
(B)

Leechal Shoes
Blee Watch
IGEST

—  A.P.. Abdul Kalam
—  Nupura Kirloskar
— Anil Prabhakar

Light Weight Prosthetic Shoes — Krispian Lawrence

(1) and (3) are correct

(1) and (2) are correct

W (2) and (3) are correct

(D)
(E)

(3) and (4) are correct

Answer not known

43 CCSEIVGE/2025
[Turn over



99, Identify the figure of speech in the poetic lines given below :

Down in the hill sat the little doggie Nell
There she dillied and she dallied all

Day, Day, Day

(A) Assonance
Vﬁ Consonance

(C) Alliteration

(D}  Anaphora

(E) Answer not known

100. Identify the figure of speech in the lines given below :

No time to see, when woods we pass,
Where squirrels hide their nuts in grass.
No time to see, in broad daylight,
Streams full of stars, like skies at night,

No time to turn at Beauty’s glance,

(A) Consonance

(B} Assonance

\)ﬂf Anaphora

(D) Personification

(E) Answer not known
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uGS- — Aurg bley () UGH-G — Sperdla,
HOILD WerdEeanrTd @, biehren ey
Part-B — General Studies & Part-C - Aptitude and

Mental Ability
clenmésar : 101-200 GQurss wHCuarser : 150
Questions : 101-200 Total Marks : 150

101. Match the following :
(a) Financial Assistance to 1. Between the age group

Dependent children of 18 and 21 years
(b) Maintenance of Orphan 2, Providing destitute,
and Destitute Girls orphan and unattached children
(c) Foster Care Services 3. Children below the age of
Scheme 16 years
(d) State After-Care Home 4. Children between the age of
for Boys 6 and 16 vears
(@) () (e (d)
(A) 2 3 1 4
B 4 2 3 1
S 3 4 2 1
M 2 4 1 3

(E) Answer not known
Sipsraruaupean sflurs Qummgs.

(a) smibdmsEn spiosserss 1. 18 whmb 21 enwig s,

e Een LUl L euitsEeT
(b) peubp whmb semens 2. peubD, ensefl UL L b
mublsener Lol sse gaflwrar Hmeursgnss suphEsd

(c)  ewertriny whpnd Lgmofy 3. 16 anngém o Ll Spesfrsdr
Geaneuser Sl L

(d) fpenrs@rssrar upmofioy 4. 6 whms 16 auwgse e ol

E)éranih Fimiauirser
@ ({m (@ (d
(A) 2 J 1 4
(B} 4 2 3

1
(C) 3 | 2 1
(D) 2 4 i 3
(E) dle Qsflucidena
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102. As per the Tamilnadu Economic Survey of 2024-2025. Arrange the
following in the ascending order based on the productivity.

(1) Paddy productivity

(2) Maize productivity

(3) 0Oil seeds, Groundnut and Sugarcane productivity
A (1) @ @

B) (3) @ @)

(C) @ @ @

o @ Q) (@

(E) Answer not known

2024-2026 b syeimenwl suflipmrf Qummermgry SpleuflEmsusan L,
Siger o pusfifipemery GQummds  Geamaeaaban gpeufiamsdd
sulensliu(bdgihiser.

(1) Gpe 2 pusfsHpe

(2) wasrEGamend 2 HLsHESmnen

(3)  eeran efisgssdr, Hass oo oppb sy e pusdsdpes
@ QO @ @

B @ @

€ @ @ @

Dy @ 1 @
(E) edflen. Qsfluahldena
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103. Find out the Incorrect statement(s) about the Tamilnadu Health
System Reform Program (TNHSRP)

(i)
(i1)

(1ii)

This program was supported by World Bank.

This program is sponsored by the Central and State
Government in the ratio of 60 ; 40.

It is implemented by the Department of Health and Family
Welfare of Tamilnadu on Program for Results basis.

(iv) This program aims to achieve the goal of SDG 9.
(A) (i) and (iii) only (B) (ii) and (iii) only
{8y (ii) and (iv) only (D) (iii) only

(E) Answer not known

gllppr® ssnsrr siewoy SMdmsss 0 o (TNHSRP) upflu Seummen
s hflenenr sam_gfls.

(i)
(11)

(iii)

(iv)
(A)
(©
(E)

BsACL glhe ews wid ssre) eaflsdanpg.

@os Hlew vEhu wrfle sgemusgsrd 60 @ 40 awp AbssHa
uweum_ @ Bfusedl aphisliufBdpg.

Abs wye Sgluecdd seogs A0 sdeer  SOPET e
HETGTID WHRIb HHDU pasgsepurd auduBssiubEns.

- @5s Hb SDG 9 g Bessns senLawas Carésons (ol ey (B eirarg).

(1) whmpd (1) wi @b (B) (ii) whmid (1ii) we G
(i1) whgd (iv) wiGub (D) (i11) wi Gib
chlen Qzflwefldane
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104. Assertion [A]

Reason [R]

In 1892, Tremenheere report was accepted by the
Government for increasing the income of the
Government, to allot the poramboke land to
down trodden community.

In Chengalpet, the Panchamer Schools were run
by the Philanthropic individuals in Panchami
Land for promoting Education for downtrodden
community people.

e [A] is true [R] is false
(B) Both [A] and [R] are true and [R] is the correct explanation

of [A]

(C) [A] is false [R] is true
(D) Both [A] and [R] are true but [R] is not the correct explanation

of [A]

(£} Answer not known

sapm [A]

snremny [R]

S7&, Lnblurss flatsaear srpgsliuls sopsgsbhs
auphimeisa  ardlars mspfldr  fd  amamdaea
Gumedl Gardrarerd eardlp  1892-0 swereLw
dArQueralit syflsensilanar ahpskamsm g.

wafls Cruifés pufadr smpssuuci sups  wasafldr
sactlflener Ciobufpgn Gummld uessot Ldtafsame
Qemsed i g o arer Lgsall Hlaksala s eubsant,

(A) [Al &f [R] pau
(B) [A] wpgun [R] #f Cuwgin [R] ayeng [A] Wgyerw sflwrer eflardsn

RS0

©€) [A] paum [R] &A1
(D) [A] wpgd [R] sfl gyemad [R] syeng [A] dggen wi sflwrar alerdsn

wEHE0ED

(E) e&flen Qefueddama
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105. Identify the incorrectly paired matches :

(1) Lokpal and Lokayuktas Act ~  January 164, 2014
came into foree

(2) Tamil declared as Classical Language —  Oet 10, 2004

(3) Election Commission of India —  Article 324

(4) National Integration Council in India -~ 1960

(A) (1) and (3) WBJ (2) and (4)

(C) (3) and (4) (D) (4) and (1)

(E) Answer not known
Beraymevarauifle seuprs unmsou’ Heaarapan sl s,

(1) Gamsumd b Gans uEsT s b —  geraufl 16, 2014
BEnL_pennss, eubs Smah

(2) s8p QenGliomfurs sflsflasiu g - =&Gomun 10, 2004

(3) @tflus Carsd gemamun — sl dn9fley 324

(4) @#fu Csdw pmadoariy soaruh - 1960

(A) (1) wpgb (3) (B) (2) wpgud (4)

(C)  (3) wpgib (4) (D) (4) whgib (1)

(E) aflen Cgfluciidaena

106. The purpose of “Surya Ghar Muft Bijli Yojana” is

- Installing roof top solar
(B) Providing Houses to the poor
(C) Insurance to old age people
(D) Financing to small industries
(E) Answer not known

‘BT &F aploc Mgl Gurgern” eenp S gder Crréswreng
(A)  dil Rismengseila wilu gl Bererpb i mieyeugy

(B) gops@ssrar dfsd ayphsas

(C) awg apbsrmesnan s115H aprigag

(D) &Aflw Ggmfdsrennsgnis 4 AL AT T
(E)  sflen Gsflueidama
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107. Assertion [A]

Reason [R]

Zamindari system was created by the East India
Company when in 1793. Lord Cornwallis entered

into permanent settlement.

Under the settlement, the landlords were
declared full properties large areas of land.

(A) [A] is true, [R] is false

(B) |A] is false, [R] is true

(C) Both [A] and [R] are false

@r Both [A] and [R] are true, but [R] is the correct explanation

of [A]

(E) Answer not known

b [A]

&ML [ﬂ]

17938 & snremeuncbien Hpushler Spsdlbdu cuenflss
Supeller ' Sl Ep  gubsrsnd (penD
Qsmeair ([Heumlii’ L g.

E)bpenmulianme: ap et s iisme D Baoddl e
o flepinwirerizennss shisenar =iflellEg &0 smamsm.

(A) [A] s, [R] seump
(B) [A] geum, [R] &

(C)  [A] wpgi [B] Grarfn saup

(D) [A] wppt [R] SrawGuin sf, guerra [R], [A] dr sflwuner aSlendsin
(E) eflen Qaflushldema
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108. Assertion [A] : Goods and Services Tax in India is a

comprehensive, multistage, destination-based tax

that is levied on every value addition.

Reason [R] ¢ The moto 1s ‘One Tax, One Market, One Nation’,

(A)

[A] is true, but [R] is false

J4BY” Both [A] and [R] are true; and [R] is the correct explanation

(©)
(D)

(E)

of [A]
[A] is false, [R] is true

Both [A] and [R] are true, but [R] is not the correct explanation

of [A] is correct

Answer not known

sntm [A ¢ Bbdureflé srdE whph Grea suflurerg efiflaumen,

ue ugBleasalld Beds Sgluecds gdalams
wHlys sl gen Curg eflfsstufens.

sienh [R] D Bgen Gprasn “gGr afl, gGr stens, gCr BrE” @b,

(A)
(B)

(€
)

(E)

[A] &fl, sperres [R] paumy

[A] whgus [R] @remGn &0, copon [R] eaug [A] dlpsrer sfiwirar
chleT&sh oo

[A] gaum, [R] &

[A] whps [R] @rein@min sdl, sama [R] earug [A] dparar sfiumar
cilargsid sda [A] sarug oM
silen Ggfweildeaa
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109. Arrange the following Finance Ministers of Tamil Nadu according to
the Budget Year (Chronological Order)

1.  Mr. Paneerselvam

2.  Dr. Nedunchezhiyan

3.  Mr. Palanivel Thiagarajan
4,  Mr. Thangam Thennarasu

(4 1 2 3 4

B 4 3 2 1
2 1 3 4
M 1 4 2 3

(E) Answer not known

Epssam. sfpErD BF sensstsemer seisefldr LCGmE  saa
gl wns daramf sroafasiug aflasiubsss.

1. &g venat Cedab

2. sl QEEencsfuer

3. 8. uypafiGeusd Humsmmgdn
4. Hm gusb Agearanys

A) 1 2 3 4

(B) 4 3 2 1
W@ 2 1 3 4
M 1 4 2 3
(E) eflen Qaflwedcene
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110. Assertion [A] : The plan period 1966 — 69 were called as “Annual

plans or plan holiday”.

Reason [R] : Because of the two major conflicts with China and

(4A)

Palastan.

[A] 15 true, [R] is false

(B) Both [A] and [R] are true, but [R] is not a correct explanation

of [A]

W Both [A] and [R] are true, but [R] is the correct explanation

(D)

(E)

of [A]
[A] is false, [R] is true

Answer not known

sy [Al 1 1966 — 69 HC L& sranb “awan®s Hlib sdeg S

aflBapenné smah” eren enpssiLGADg.

smrewrih [R) o glenefley fFarm whmib urdlsvgrguer ghule §rar({

(A)
(B)
()

(D)
(E)

Quifiw Cuorgsdse.

[A] &@, [R] seum
[Al-un [R]-b &, syemmas [R], [A] eflpamar #fwinen sfleréminde

[Al-ys [Rl-b #f, ggemé [R] eemug [A] cAisres  sflwmen
efilemémin L

[A] seumi, [R] &
cilen. Ggflweildeana
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111. Statement: Thiruvalluvar has captured certain features like pride
and administration of the Three Great Kings
(Moovendhar) in his couplets.

Reagon : Thiruvalluvar wanted to portray the administrative
skills of Kings.
(A) Both Statement and Reason are correct
(B) Reason is incorrect but Statement is correct
(C) Both Statement and Reason are incorrect
\,QB',I" Statement is incorrect but Reason is correct
- (E) Answer not known

Fahm gsﬁﬂd& amphs apCapsreafar Gumen  Hds Sno
fla smimsserer WO HGL Fmevdnismeut SoH
@m_u-rm.mﬂm & hFIGTETT.

SN wemanisaion gl Hs  Amb  ubhdlw (I ) &S aner &
san CGeudn(fib sromd smblarm.

(A)  sapp smperrd GrarHin 27

(B) smremb geum errd smbm #f

(C) snpmp smyemrib @ElranEih e

(D) saDm SeUD ST SnyeD Fif

(E) slac Qaflusiidama

112. Give the chapter No. in Thirukkural that talks about
Ascetic Virtues.
(A) 18 B 13
(C) 12 (D) 16

(E) Answer not known

Smammetic wanwhbgdre ginaupelud wfsmrgder aememens GHludms.
(A) 18 (B) 13

(C) 12 (D) 16

(E) e Ggflucildema :
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113. Who is the author of “Valluvarum Kuralum™?

114.

(A)

BT
(C)
(D)

(E)

Tamilannal

Ki.Aa.Pe. Vishwanatham
Ra.Pi. Sethupillai
Thiru.Vi. Kalyanasundaram
Answer not known

“eudngmeausid HpEmh erenp Eredeln s Aflwn

(A)
(B)
(C)
(D)
(E)

S0l pateranred
&l Glu, alsaumrsib
g G, GegllnSeranar

Aim.efl. sellwimem sksyamTi
clenL Glaflweildana

Who was the first to draw the portrait of Thiruvalluvar?

(A)

Venkata Krishna Pandithar

.,_(B)/ Venugopala Sharma

(©)
(D)
(E)

Saminatha Sharma
Vannacharaba Dheetchithar
Answer not known

Hmeudrgneu 2 megflmen apsar psdld geflunrs suenbseaui

(A)
(B)
(€)
(D)
(E)

GeutisL £(mepam @i 5T
CeugmGasmume smom
smipng &hor
eusmemssTL SUAsh
alen Gasflweblerans
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1156. Choose the right matches.

(1)
(2)
(3)
(4)
(A)
ﬁ?’
(D)
(E)

New India -
Thesapakthan -
Nava Sakthi -

The Hindu =

(1) and (2) are correct
(2) and (3) are correct
(3) and (4) are correct
(1) and (4) are correct

Answer not known

silwmar Eenewreny sahw s,

(1)
(2
(3)
(4)
(A)
(B)
(©
(D)
(E)

Bl @ bEwr -
LR -
paisss i
8 B -
(1) whgnbd (2) &
(2) wpmb (3)
(3) whpn (4) s
(1) wpgin (4) &f

effenL. GlaflweSldensy

CCSEIVGT/2025

Bharathi
V.V. Subramanian
Thiru. V. Kalyanasundaram

(G. Subramaniam

Limydiwmd
eu. Geu. sUnSlgunenfiwigr
Hlm.efl. sebluiramsHsyin

G. &9 rwenfliuib
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116. Which of the following statements are true about the Theosophical

Movement?

W

(i1)
(i11)

(A)

The Theosophical society was founded by Madam Blavatsky
and Col. H.5. Oleott in New York.

In 1888 Mrs. Annie Besant joined the society in India.

The headquarters of the society in Adyar.

(1) and (ii) (B) (ii) and (1ii)

B (i) and (iii) (D) (iii) only

(E)

Answer not known

Wirdogsnen genu upblu sfuner eursdluisaea Gsiey Haus.

(1)

(i)
(i)
A
(©
(E)

GuLd  Permeur vl whpy  stered  H.S., mpasr g8Curmma
\Hrbwgsmen sanu Blypwimiddld Cambmeflsstiun L g.

1888-d @idlurefles odrallluzen. subanowrt G Berambsm,
[Eer genaannwish Hearenar senwirdley e arers).

(1) wpgubd (11) (B) (i) wpgud (111)

(1) whpnd (1ii) (D) (11) wi G

aflen g fwsildena
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117. Assertion [A] : EV.R. Periyar started the Self-Respect Movement

in 1925.

Reason [R] : New India was the official Newspaper of the

Self-Respect Movement.

\,ﬂ.‘f. [A] is true, but [R] is false

(B) Both [A] and [R] are true, and [R] is the correct explanation
of [A]
(C) [A] is false, [R] is true
(D) Both [A] and [R] are true, but [B] is not the correct explanation
of [A] i1s correct
(E) Answer not known
sy (A : 1925-Fld m.Geugr Quflurt suwfures Fusssass
Qg amm.
sryant [R] @ swofwureg  Guisgdar sfasmyier  Geldssnd
Bl @pgur gy,
(A)  [A] &fl ey [R] gaugp
(B) [A] wipe [R] @renGin ofl, whmb |__R] srerug [A] Weyen i #flwmer
cilemiEh
(C)  [Al] s, [R]
(D) [A] wimd [R] @rewfn sfl, syemd [R] eaug [A] Seueiw

(E)

sflwren alarésndar ereamug &4

aifen. GlEflweidene
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118. Consider the following statements and Identify the wrong answers

(1)

(2)

(3)

(4)

On 1 September 1798 Major Bannerman served an
ultimatum  directing Kattabomman to see him at
Palayamkottai. |

Kattabomman’s Fort 500 feet long and 300 feet broad, was
constructed entirely of Mud.

On September 16, 1799 Veera Pandiya Kattabomman was
tried before an assembly of Palayakkarars at Kavatar.

On 1= June, 1799 Kattabomman, attended by 500 men,
proceeded to Sivagangai.

(A) (1)iswrong (B) (2) is wrong
JE5~ (1) and (3) are wrong (D) (2) and (4) are wrong
(E}) Answer not known

Epscm sbmseer smadd Qeran( saupnar dleaw sdrdl.

(1)

(2)

(3)

(4)

(4)

1798 Qauimun, 1 wvep Gogh unemGuoen sedrenend &1L @Umboer
umenanukiGamce L uld shdsmbug Bmd esrfidems ol Heilsgnt,

sl dumbnefier Gem_a 500 iy Sagdgn 300 g ssesdgin
Ap{peu D oarerlammed &L g mbSs.

1799 Qoubur 16 Siemp  umeniGwer &L Jumbinener  SwSSMD
erargnull_gdled  Lnenemudsnyisdr spuimhs weeanld  eflsrranen
GlFagm.

1799 grdr 1 merp sccQumbwer 500 s s et Heusdiens
Qeemprir.

(1) i @b e (B) (2) w fub geugy

(Cy (1) wpged (3) wi G saumy (D) (2) wpmib (4) LG sam
(E) eflen Qgfuiehdaama
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119. Which of the following statements are true?

(1)

(2)
(3)
(4)
(A)
(C)

(E)

Congress bovcotted the election which was held in 1923 1n
Chennai.

Swara) Party won 11 seats.
Justice Party formed Ministry in Chennai.
Kamaraj led the Non-Co-operation movement in Chennai.

(1), (4) are correct (B) (1), (2) are correct
(1), (3) are correct -,(Iﬂj. (1), (2), (3) are correct

Answer not known

silwren surddwibisenand Dafla Cels.

(1)
(2)
(3)
(4)
(A)
(C)

(E)

srtdmen s F, 192360 Qeemenemla pLps Caisame Lpnssamflsss.
swrrgpu &8 11 G tisafld Qeupll GQubpg.
Cleenamanild fHal f s@wFsrae H@LESS.

smopnmt deerananis gigepuran @usstdeaen aflssdent,

(1), (4) sflwreng (B) (1), (2) sflwreng
(1), (3) sMwimeng (D) (1), (2), (3) sflwreng
dilan_ Ggfwsildaa
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120. Match the following :

(a) Karaikkal Ammaiyar 1. Thiruvantadi

(b) Andal 2.  Kachhikalambagam

(c) Aranganadha Mudaliyar 3. Pavaippattu

(d) Seraman Perumal Nayanar 4. Moothathiruppathigangal
(@ () (@ (@

a4 2 38 1 4

By 3 1 2 4

Jer 4 3 2 1

M 1 2 3 4

(E) Answer not known

Epssam_cupenpl Qurmsss

(a) srewpésme Sbaowini 1. Smeubsnd

(b) zyetmi_meir 2. s&flssabush

(€) syrhsgns qpsalwim 3. umensuium

(d) Gsmomer GlLigrLome j!rrl'l.l_lﬂl”.l'ﬂ’f 4. ApdgE L L & s

(@) (b (@ ()

(A) 2 3 1 4
(B) 3 1 2 4
(C) 4 3 2 1
M 1 2 3 4
(E)  dflen Gsfwshcene
X 61 CCSEIVGT/2025
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121. Which of the following statements are true about Sivakalai
excavation?

(i) Sivakalai excavation located in North shore of river
Thamiraparani.

(it) Tamil society lived in Sivakalai considered very ancient.

(111) Copper and gold goods are found.

(A) (@) only (B) (i) and (iii) only

V€T (i) and (ii) only (D) (iii) only
(E) Answer not known

Epsem_.  Aasmsr  smspnie)  arsdugded Gumpgserar  uflee

CaitdsHssaub,

(1) Hasaer sproey  snigurell  agbfler  aldéss sondd
& T

(i) fausmans LEdHls wmpps sOpF Faped  SsUUpeDLTETENS
sSmEUILHEmS.

(iil) Geby whpb shsgdarar Qunmdrsd @, Sl ss0GLDDE.

(A) () wi@mn af (B) (1) whmd (iii) s

(C) (1) wogb (i1) &8 (D) (1) wi@in &

(E) el Qufliuebasmea

122, What is the crucial role played by noncoding RNA’s?

(A) encode for proteins (B) rephcations

VEE)' gene regulation (D) earbohydrate synthesis
(E) Answer not known

wduhLmg RNA (NCRNA) erérar apsdud v eudlsfmg 7

(&) Lrssdparer @Punssn ®) 9rd
(C)  wrugn sCGouE (D) sriGureogpe Gr Asmgiy
(E) eflen. Qsflucideaa
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123. Choose the right matches among the following :

(1) Five Kingdom System — R.H. Whittaker

(2) Six Kingdom System —  Car]l Woese, et al

(3) Four Kingdom System —  Carl Linnaeus

(4) Three Kingdom System —  Ernst Haeckel

(A) (1) only correct BT (1), (2) and (4) are correct
(C) (1) and (2) are correct (D) (1), (2) and (3) are correct
(E) Answer not known

silwrer [@aamenws sem s :

(1) mh@es assiurf —  R.H. AlirsQsi

(2) spes ausasluri — & Gleuudd, w.u.

(3) ETETHeE auensLILIT(H - &mired ebleirGam sy

(4) apanmes suensLLIME) - er@emen’ QAapsGad

(A) (1) wi@d & (B) (1), (2) whpud (4) sfwrarene
(C) (1) wpmd (2) sfwireresea (D) (1), (2) pgbd (3) #Awrarena

(E) eflen Ggflwehlaena

124. 0.10 M of weak acid is found to be dissociated to the extent of 1.20%
at 25°C. Its dissociation constant is

(A) 1.44x10° (B) 1.44 x 10

W 1.44 x 107" (D) 1.44 x 10*
(E) Answer not known

0.10 M Gsflajenw aidleonn gaphs sifle saqsd 25°C-@ 1.20% Gflms
sienL_fps erafld, Gflens wrflefuGsr wdliiy

(A) 1.44 x10° (B) 1.44 x 10

(Cy 1.44 %107 (D) 1.44%10%
(E) dlan Qzfwehldena
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126. The GSLV-F15 is launched on by ISRO.
A January 29, 2025
(B) March 08, 2025
(C) January 29, 2024
(D) March 08, 2024

(E) Answer not known

[SRO-aurda GSLV-F15 yré@sc. gaunuc L Hemb
(A)  mereufl 20, 2025

(B) orié 08, 2025

(C) menaudl 29, 2024

(D) o 08, 2024

(E)} efen Qafwehldama
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126. Which of the following is incorrectly matched?

(1)

(2)

(3)

(4)

Trans Siberian Railway line

Trans Caspian Railway line

Canadian Pacific Railway line —

Trans-Continental Railway -

line

(1) only

.J'af (3) only

(E) Answer not known

It connects Baltic Sea and
Pacific Ocean

It connects Central Asia
and Japan

It connects Atlantic Ocean
and Indian Ocean

It connects Buenos Aires
with Valparaiso

(B) (2) only
(D) (4) only

Spasir_subuer ergy seupns QUi o drerg 7

(1)

(2)

(3)

(4)

(A)
(C)
(E)

w rdren ensld ek
@miylurens

i TTEbTEH 5w i seh
SOy DuTeng

Slhamgwen LHAE
Brmoylureng

g JiTeiTeh &meig Elemen_ b
ElopLiLunens

(1) wifub
(3) w{Hn
cflean GgMweflsbens

BElg umdg & sLenaujh, LEGE
Gumiis e Fenarsdng

Elg S SpF L Teneu Ly
gULImenam | (@) anandEn s

Blay o emamn &
Qumrus_enanb, @b
Glumris_aaund @) arersdng

EmE Syyerdn eyuifey
BEIG@MSLID eumsuenrEem
paEfSeEL L Fanenssns

(B) (2) wi@um
(D) (4) we @

CCSEIVGT/2025
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127. Who among the following was the Indian Prime Minister when the
42 Amendment Act was passed?

(A) Jawaharlal Nehru (B) V.P. Singh
Indira Gandhi (D) Morarji Desai

(E) Answer not known

Eady srreolbar 42-sem fmgss sl Gerenl eriule Cumg

EhSluirelien Soswors @opbseut wn?
(A) mevamierd Cpem (B) <449, S
(C) @Esdorasnid (D) Qumpntg) Ceemd

(E) &flenr Gaflusilaens

128. Assertion [A] : The Pallavas constructed the Cave temples
without brick, wood, metal and sudhai.

Reason [R] : The stones kept one upon another and not bound
with plaster is known as “Katraligal”.

(A) [A] true, but [R] false

(B) [A] false but [R] true
\A€T Both [A] and [R] are true

(D) Both [A] and [R] are falze

(E) Answer not known

sapp [A] P udmveurser, 1omb, &eng, o Gamsb, Csusd Gumrdnm
&L (Hiomear el merser (=) st ghl s (& L_ELEN T
Ganeflshsenar & (meumddari,

srremh [K] : Emhapsmen gallarGod qeamns GiEHE  semamb
Carésmod &L UURD S BEEsES  Csppaflse’
erelm) G,

(A} [A] =M syarmd [R] &
(B) [A] seupy gemmen [R] &l
(C) [A] wpmi [R] @reefn sf

D)  [A] vppo [R] @rer@in seump
(E) eflen &g flwefldana
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129. Choose the Wrﬂng pair :

(1)
(2)
(3)
(4)
(A)
(C)

(E)

South Dravidan Language
East Dravidan Language
Central Dravidan Language
North Dravidan Language
(1)

(3)

Answer not known

seummen Blenemrans Sam(Hid.

(1)
@)
3
(4)
@A)

(C)
(E)

Glgendgretl_ Guwmf -

dlpde omell. Quomfl -

- whEgLlrnei Guomyf —

e dlgmafile Gwmyfl -
1)
(3)

efleni_ Gzflweldene

67

—  Malayalam
- Munda

-  Telugu

- Kuruk

BT (2)

(D) (4)

LEvEr L T @ L

{LPERTL_IT

gt

(ETh

(B) (2)
D) (4)

CCSEIVGT/2025
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130. Assertion [A] : Rabindranath Tagore surrendered his knighthood.

Reason [R] : On 13t% April 1919 Jalianwala Bagh Massacre

oceurred in Amritsar.
(A) [A] True [R] False

W Both [A] and [R] are true and [R] is the correct explanation
of [A]

(C) [A] is False [R] is True

(D) Both [A] and [R] are true but |R] is not the correct explanation
of [A]

(E) Answer not known

apm [A D @oeibsTEng snaat seng Et UL Seoss sphs,

aryearh [R] 2 13 guger 1919 sifngeren pafle graflued arwnurs

LE ST BenLLIGLHDE.
(&) [A] sl [R] geup
(B) [A] opge [R] &, [R] [A] @gyeniws sfwirer slarésid
(C) [A] geum [R] #A
(D) [A] wpgyb [R] &M syenma [R], [A] @gueniw sflwunen dlarssnde

(E) e Gsfuwelidiana
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131. Assertion [A] : The Indian National Congress First Conference
convened on 280 December 1885 in Bombay.

Reason [R] : Tamil Nadu region represented and attend
21 members.

(A) [A]is true but [R] is false

(B) DBoth [A] and [R] are true and [R] is the correct explanation
of [A]

(C) [A] is false [R] is true

L;D}" Both [A] and [R] are true but [R] is not the correct explanation
of [A] is correct

(E) Answer not known
smpm [A] : Esdw Gauéhw sty s (pse WwETH
1885 penui 28 b Caf LbumnSé sngusg).
snyenrih [R] D sfpsrl @ usdddmis 21 Cur sabs Garan_ s,
(A) smpm [A] & syemd smyamn [R] seup

(B) spm [A] wppd smemd [R] @ren@o sf wppd spm [A] &b
snyanb [R] eflwrer efleréswonsib

(C) spm [A] seun smparb [R] &

(D) spm [A] womnd srpemd  [R] #f syenres smpemnd [R] sapm [A] s
sflwmer eflerdswnde sreiiug i

(E) ofien Qs flwebleoena
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132. Which of the following statements are true about the Indus
Civilisation?

(1)
(ii)
(iii)

(iv)
(A)
(B)
(C)

N3

(E)

In the 1920s Martimer Wheeler excavated the Harappan sites,

The longest text has about twenty six signs.

The term “Meluhha” in the Prakrit inscriptions refers to the
Indus region.

The “Priest King” of steatite was discovered in Mohenjo-Daro.
(1) and (i1) only

(i) and (111) only

(i1) and (iii) only

(i1) and (iv) only

Answer not known

fhg prafsn ghlss Yeraymd smppsafce aaa e ar@buraTaal

(1)

(11)
(iii)
(iv)
(A)
(B)

(C)

(D)
(E)

1920seflé wrigwi et apruiur ugfselld sspmiasdr BLsHeanmt.

Bls Ferwnensras smslufin  aupsssGert 26 Edl@saas
eEnar Herars).

Gprdlpes s@Ga. el "Qugst edap Gsra  HApg u@ﬁmm.ﬁ;
solEdng.

Gl enl - Sddld enwEs CwsEm  Srsen  CuonsgpesnGrreild
Sl (&SI L g,

(1) whgpb (ii) wo @b
(i) whgun (111} 1o [Fib
(i1) whpb (iii) we@o

(i1) wibmub (V) w_Hub
eilan_ Gaflueidaa

COSEIVGT/2025 70 &)



133. The correct statements on the New Chief Election Commissioner of
India are:

(i)
(11)
(iii)

@)

B
©
M)
(EB)

Gvanesh Kumar took charge as the 26t Chief Election
Commissioner of India on February 194, 2025,

He iz a Kerala cadre of the Indian Administrative Service in
the 1989 batch.

He has been responsible for handling various departments as
the secretary to the government of Kerala,

(1) only

(i) and (iii) only
(1) and (i1) only
(i1) and (iii) only

Answer not known

Hwgns ushCuppder Ehdu sewews Bsisd yepsmruenr Lhbliu
aflwiman s hmsearmens:

(1)

(i)

(i11)

(A)
(B)
(€)
(D)
(E)

enGardy oot Gupedfl 18, 2025 mep @pHurden
26™7 saamos Ceisd syeamurms’ GurnoCUBDT.

e 1980 b aan® @bBw 0 Ao veflllan Garear Wfla) bl
<G,

Carer sipfler Grwarenyrs udGay gopsamad esum@h @ummydad
<SfeuiT eudl s arenm,

() oG
(1) whgub (ii1) e @b
(1) whgud (i1} oG
(i1) whmd (1) wi G
él_am. EaMweildama
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134, Match the following :

Name of the Act Enacted year
(a) Consumer Protection Rules 1. 1930
(b). Drug Control Act 2. 1987

(¢) The monopolies and
Restrictive Trade Practice Act 3. 1950

(d) Goods and Services Sales Act 4. 1969

() () (© (@
v 2 3. a4

(B) 3 1 2 4
c 1 3 4 2
D) 4 1 2 3
(E) Answer not known

Lpsam_supenpl Qummssis.
UL ddlen Guwir BlupnuuCL e
(8) mstGeuri ungsmoy il sdr 1. 1930
(b) wmEgE s HOuTE Flcib 2. 1987
(c) asCurs whmb sCHOUNCEH
GUEES FenL (P DEeT FUL I 3. 18560
(d) Gunm sdr slpuemand st 4. 1969

(@ () (e (d

(A) 2 3 4 1
(B 3 1 2 4
) 1 3 4 2
M 4 1 2 3

(E) &Aen Gzfuchldama
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135. Consider the Assertion [A] and Reason [R]

Assertion [A] : BSupreme court judges are to be appointed by the
President.
Reason [R] : In the case of appointment of the Judges the

(A)

(B)

Law Minister of India shall always be consulted.

Both [A] and [R] are true and [R] is the correct explanation
of [A]

Both [A] and [R] are true but [R] is not a correct explanation
of [A]

07" [A] is true but [R] is false

(D)
(E)

[A] is false but [R] is true

Answer not known

smas [A] chmb smemb [R] dlemaan smas.

sméa [Al D ghwrss  geaan o ssffioen  fdufsaa  Fuwnenn
ALTIE T Ly
smramd [R] @ ffufsamer - fuwerd  Qeiwgb  Gurps sl

(4)

(B)

(©)
(D)
(E)

Sjewdsenmub sapsrEoriés Gauanfib.

[A] whgb [R] @renGud #f wpmo [R] eearus [A] ssrar sflumen
dlengsch

[A] wppib [R] EBremie sf syemé [R] edaug [A] dér sflwmen
dilerssd Fdea

[A] &l e [R] saup
[A] seum <peme [R] &M
ellen Gladwelldana

73 : CCSEIVGT/2025
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136. Arrange in chronological order on Inter-State council
(1) Punchhi Commssion
(2) Rajamannar Commission
(3) Sarkaria Commission
(4) Venkatachaliah Commission
(A) (3, (4, (2), (1)
(B) (2), (1), (4), (3)
(C) (@), (4),3), (1)

VB (2), (3), (@), (1)
(E) Answer not known
wrBletsgnsdla Guwnen gpssene stoaflasiug @uR@uUBEsaD.,
(1) yensdl s
(2) @rguoerei @y
(3) swasrflur @up
(4) Geukis Gedensm &g
(A)  (3), (4), (2), (1)
(B) (2), (1), (4), (3)
(C) (2), 1), (3),(1)
(D) (2), (3), (4), (1)
(E) e Qsfusiidaa
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137. Choose the right match :

(1)

2

()

Retirement age of the
Supreme Court Judge
Minimum age for mntaatiﬁg
for the President of India
Minimum age for becoming

Rajva Sabha member

(4) Minimum age for becoming
Lok Sabha member
(A) (1) and (3) are correct (B)
Y (2) and (3) are correct (D)
(E) Answer not known

stlwrer Gevemenwg Hgfley Hels

(1)
(2)

(3)

(4)

(A)
(C)
(E)

60 years

30 years

30 years

21 years

(1) and (2) are correct

(3) and (4) are correct

ess fhoeny BHUS gy ey — 60

Eidu @gwrs seaat Gaigdld - 35

Bihugharer ganhsuls aug

Cuaama e gldayrs ganbsul s — 30

UL

Spenan o prulamyrs - 21

EHEDESLIL S auLiFl

(1) whmb (3) sflwurenana (B) (1) whgb (2) sflurerene
(2) whmn (3) sflwresasa (D) (3) wbmb (4) sflureras

ehlen. Qs fwsiichensy

5
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138. Arrange the following in chronological order :
1.  Bharat Ratna
2. Padma Vibhusghan
3. Padma Sn

4. Padma Bhushan

(A) 2,8,1,4

B 12,43

(C) 4,321
D) 3,1,4,2

(E) Answer not known

Sletraum eflmgisenen sraaflasiuy aflasiufsss.
1. umg rgean

2. Lgn eillyeser

3. ugwyd

4. ugw egen

(A) 2,3,1,4

(B 1,2,4,3

C) 4,3,2,1

(D) 2,1,4,2

(E) eflen QsMuclidene
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139, Match the following :
Name of the States States in Part
(a) Himachal Pradesh
(b) Rajasthan
(e) West Bengal

(d) The Andaman and
Nicobar Islands

ol - -
Q w o =

(@& ®m @ @
vk’ 4 3 1 2
(B) 2 4 1 3
(C) 3 | 2 4
I 1 2 4 3
(E) Answer not known

Gummsgs
wirBesrisar Guiw wnfleoksd EmEsn uEd
(a8) @uorssan Grlssb

(b) @yrgmeusmen
{c) Gube sukisrarih

=

= Lo o =
30 I - « S

(d) supgwren whmb
PEGarun Saymen

@ M © (@
(A) 4 3 1
(B) 2 4 1
&) 3 1 2
D) 1 2 4

(E) e Qsfusfden

== S =

£} 77 CCSEIVGT/2025
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140, P and Q can do a piece of work in 20 days and 40 days respectively.
They started the work together and Q left after some days of work
and P finished the remaining work in 8 days. After how many days

from the start did Q leave?

(E) Answer not known

P wopgin Q@ wbCum g Camaau gpaptu 20 whpbd 40 prisafa
wRlul. eursdr @) memb gerprs Geibsy Ceeaew Ggm midlant. #Ha
prisd  Ceene Gels Gpg Q aauer GsamellGEpnt.  Esopden
Gausneenws P eretrueut 8 prisefle apesdont eafe Qemdduddmba
apsaer Bris@sdEn AnE Q Cauemmew L é Gsempmiy

(A) 9 s

(B) 10 prser

(C) 8 prisdr

(D) 11 prsmar

(E) Ao Bafwefldaa
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141. Divide Rs. 2,602 between A and B, so that the amount of A at the
end of 6 years is equal to the amount of B at the end of 8 years,
compound interest being at 4% per annum.

(A) Rs. 1,300, Rs. 1,252 (B) Rs. 1,452, Rs. 1,150

(C) Rs. 1,302, Rs. 1,300 JBT Rs. 1,352, Rs. 1,250

(E) Answer not known

anfaE 4% sl Paulnulls 6 am hsald A 4 daLssh Osrasuras
8 apLisefs B o Ograsiss soors @msse aaio m 26028
A whmibd Ber ukissdr

(A) e 1,300, m. 1,252 (B) . 1,452, g, 1,150

(@) @ 1,302, 5. 1,300 D) . 1,352, m. 1,250

(B) e Gsfudoma '

142. Find the simple interest on Rs. 68,000 at 16%% per annum for

9 months.
V{AJ Rs. 8,500 (B) Rs. 8,000
(C) Rs. 9,400 () Rs. 9,100
(E) Answer not known
. 68,00085 9 vrstsesse 15%% QB eiln d8ssdd sef ey
STans. _
(A)  em. 8,600 (B) . 8,000
(C) e 9,400 (D) . 9,100
(E) eflen Gsflwehldvena
1o 79 CCSEIVGT/ 2025
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143. Ifa:b=3:Tand b:ec=7:6, then Find the ratio between ¢ and a
(A) 1:2 (B) 3:6

© 6:7 WD) 2:1

(E) Answer not known
a:b=3:Tupgb b:e=7:6 eafld ¢ wppd a Geaupfler clidgs srars.

(A) 1:2 (B) 3:6
(C) 6:7 D) 2:1
(E) eflen. Qasfwshlcenas

144, The ratio of two numbers ia 3 : 4 and H.C.F is 4. Their L.C.M. is

W 48 (B) 38
(C) 58 (D) 68
(E) Answer not known

@reim(y crawsaflen eiidlsnd 3 ¢ 4 Cogub smdr B.Qume wduy 4 eafld
aeeusefies S Hw.

(A) 48 (B) 38

(C) 58 (D) 68

(E) sfler_ GQaflwelaoenan

145. A number x is divisible by 13. When this number is divided by
16, 24, 32 it leaves a remainder 6 in each case. The least value of

xis !
w390 (B) 391
(C) 389 (D) 392

(E) Answer not known

G eehr X ey 13 e eusuBl. BHs adm 16, 24 whpb 32 myo
augsEEh Gung q]-m{}mn'{pj, aprapuyh B6F 6 flen  spgy eafles x dr Wlssdflu

T [T
(A) 390 (B) 391
(C) 389 (D) 392

(E) dflen Qs et dena
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146, There are 80 students in a class. If 25% are absent on a particular

147.

day. Find the number of students present in the class.

@ 10 B 60

(C) 30 (D) 25

(E) Answer not known

g agids B0 wrematsd ederent, g efodc. prefld 25% CGun

aumensLfludidens eafld sumens yfis wremanselldr eaneallsamsaus
satmHlsayib,

(A) 10 (B) 60
(C) 30 D) 25
(K) eflan_ Qafwellaenen

The ratio of boys and girls in a class is 5 : 3. If 16% of boys and
8% of girls failed in an examination, then find the percentage of
passed students.

A& 87% (B) 13%

(C) 84% (D) 92%
(E) Answer not known
Gn ausldader wremaifsdr wHnh wrersbseller dldsb D @ 3 e

g Gshelle 16% wrenmarsesd, 8% wrewellsenh Gsréfl Gupeidana
erafleh Garddl Quip wrewrey — wnewellsaflcn sadisbansd snens.

(A) 87% (B) 13%
(C) 84% (D) 92%
(E) elen Qafluehlbenso

81 CCSEIVGT/2025
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148. Find the sum of
14+ 3+5 44 55
(A) 700 & 784
(C) 555 (D) 550
(E) Answer not known
Glgm_fen sDsd srdns.
1+8+5 +-4 55

(A) 700 (B) 784

(C) 555 (D) 550
(E) eflen Qgfwsehidency

149. The next term in the given sequence is
0, 2, 24, 252, 3120,

(A) 42450 W) 46650
(C) 38450 (D) 44650
(E) Answer not known

£Gp Garasiu Fearear Ggmir suflensles sumb iBés 2oy
0, 2, 24, 2562, 3120,

(A) 42450 (B) 46650
(C) 38450 (D) 44650
(E) &flen Qﬂﬁ‘luﬂm

150. In the series
6412287421538
how many pairs of successive numbers have a difference of 2 each?

(A)  One (B) Two

1,{2‘}' Three (D) Four
(E) Answer not known

Ebe Qam_rsd eramsafld

6412287421538
@ran( efldHunssens o el cramseflid srgsener Beavamsdr o dreanean?

(A) e (B) @pearp
(C)  apeng (D) preng
(E) efen GleMlwehldene
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151. A dice is thrown four times and its four different positions are given
below

) @ ) @

Find the number on the face opposite the face showing 2.

A 4 (B) 5
C) 6 (D) 3
{E} Answer not known

{E' usaL 4 gpanp e mi ool Cung sigar 4 CagulL feasdr £Cy
srrﬁ,‘.lssuul_@mmm

& @ @ W

2-¢tr erdltr Ldsons FEEED TeTaans snans,

(A) 4 (B) 5
(Cy 6 (D) 3
(E) &l Gsflweldane

152. Find the missing term of the sequence :

7,12, 19, 24, 43, , 91
(A) 50 (B) 45
48 (D) 63

(E) Answer not known
GEmi euflensufied e dter lHul L caremans Srars,

7,12, 19, 24, 43, 91
(A) 5O (B) 45
(C) 48 (D) 63
(E) dfla_ Bsfueiidams
X 83 CCSEIVGT/2025
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1563. ldentify the correct answer,

Assertion [A]

Reason [R]

Space MAITRI is a collaborative space mission
between India and Australia.

India aims to lower the cost of access to space
through this mission,

(A) Both [A] and [R] are correct and [R] is the correct explanation

for [A]

(B) Both [A] and [R] are correct, but [R] iz not the correct
explanation for [A]
(7" [A] is correct but [R] is wrong
(D) [A] i1s wrong but [R] is correct
(E) Answer not known

giiwnen chlen_enw GgihlsH&sab.

sapp [A]

sngenrh [R]

avGusy  MAITRI STERLIE] @ffwr  whpbd
SpandlGreilwneilbe  Eenarar sl alenGaal
b,

ElEEL_gHen fLpeuil el el cuafiEsman < G S
Gewelienen BhHwr mapss amgndng.

(A) [A] wppw [R] sfGw, CGuogus [R] eeug [A] bsrer sflwme

sfler&sLnmE1h

(B) [A] wpgd [R] o, gpemae [R] eerug [A] dpsrar sfiurer eflerssin

< el

(C)  [A] #fGw, sgeme [R] seup
(D) [A] seumy gyenrd [R] o
(E) e Qsfluddama

CCSEIVGT/2025
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154, Which of the following statement(s) isfare true about the
agricultural cultivation of 2021-2022 in Tamilnadu?

(1)

(11)

(111)

(A)
(€)
(E)

Mayiladuthurai District involved more Paddy cultivation in
Tamilnadu.

Perambalur District involved more Maize cultivation in
Tamilnadu.

Kallakurichi involved more Sugarcane cultivation in
Tamilnadu.

(1) only (B) (i) and (iii) only
(i) and (ii) only BT (ii) and (iii) only
Answer not known

Beraymauemaupiie  2021-2022-b  gamsd  sllpEmigdr  Cesrmemenio
snguCur( demfryeniw earaourer sabplEsdr) eaa/wraea 7

(i)
(ii)
(1ii)

(A)
(C)
(E)

wllerhgepdd sBlpprigCe mfHsora or@e Qpd swEUg
Gt g.

Gurbugrfa sdpEnsGa sfsors ossrsGsmand  FmEUE
e L g,

sqrendEmisdie  sllpprigCe  sfsors smby sreug
QEliod g,

(1) o Bib (B) (i) wpgud (iil) wi G
(1) wppub (i) we G (D) (i1) whped (i) we G

ailen Gafwetldana
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155. Identify the correct answer after understanding the Assertion and

the Reason.

Assertion [A] : As per the FEconomic Survey of Tamilnadu
2024-2025 the Urban inflation in Tamilnadu is
coming down from 6% in 2019-2020 to 4.5% in
2024-2025. While rural inflation is static at 5.4%.

Reason [R] : It 18 mainly due to the Governments’ policy on the
Tamilnadu Publhic Distribution System and other
income support schemes hike, Kalignar Mahalir
Urimai Thittam and hundred dayvs employment
puarantee schemes,

(A) [A] is true [K] is false

Both [A] and [R] are true and [R] is the correct Explanai:mn of [A]

(C) [A] 1s false [R] is true

(D) Both [A] and [R] are true but [R] is not the correct explanation

of [A]

(E) Answer not known

sbp whph sryewdens Bettors Gfbs Gsrdwe Ser sflwrer allen_enw

G i ol (B dmay Lo,

samm [Al : sllpemimer 2024-2025 Qummerngmy o aibldensulen

’ L sullpemmer pamioun uverdissn 2019-2020 sb
yeimgd 6% elpmbm 2024-2025 b syerne 4.5%
o5& @annbs srerCupdns. wbs Crrssld Epmoliym
vemrelssh 5.4% erenn efldlgsdlae Hevawrs o areng),
snyewmn [R] 3 apsduwnns sremhsgdand Swodu@Essn Gugb
ﬁlﬁj ];EIII:E'I Glumg sﬂ_ﬂﬂuffﬁ L 1b wmmjﬁf &mmgg.r‘r
LD-ﬂiﬁHIT e flemog U ib whpnh o wrer Gausnsreumiliy
effirairg Sl Cureann  Ep - agporer  SLsTas
Sl hgermédd ghuBEAngl.
(A) [A] & [R] paum
(B) [A] wigd [R] & whpod [R] mers [A] Yayew sflwrar sflerdain
&L
(C)  [Al geugs [R] &)
(D) [Al g [R] &fl syernes [R] sperm [A] Ween w sflwner eflarasn
1T T
(E) dle_ Qgfuddana
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156. Assertion [A] : The “Illam Thedi Kalvi” scheme in Tamilnadu

aims to bridge learning gaps among school
students caused by the Covid-19 Pandemic.

Reason [R] : The scheme involves volunteers providing

remedial education to students at their homes.

\(& Both [A] and [R] are true and [R] is the correct explanation

of [A]
(B) Both [A] and [R] are true but [R] is not the correct explanation
of [A]
(C) [A] is true but [R] is false
(D) [A] is false but [R] is true
(E) Answer not known
anbm [A) : Garefli-189 Qupp@srhpra wdrefl  wreratseafien. G
ghufib  sppd @ Caeisemas  EenpuLmg
Grréswnss Cardn® sUlpsm iy “Boab Cogs sdead”™
A CauaufssliubEng.
smpennh [R]  © @bss Sl ghe,  saamractsd  wrewatsefd
dbsgrksd Gep wrppefladr Gsrdm  sdeflenw
aulpi sl mriser.
(A)  [A] whgnd [R] @rendin e sdrean, wppd [R] edws [A] 46 sfiuna
ellardasih
(B) [A] whmbd [R] ﬁm{ym eerenn, gpermed [R] ererug [A] &6 sflwnen
eflendsfebanan
(C) [A] eewenn wyamar [R] saupreng
(D) [A] saupreng pand [R] sflumans
(E) efen GQgMweldema

87 CCSEIVGT/2025
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157. Which of the following statement(s) is/are true about “The Mandal
Commission Report™

(i) The commission used Three indicators i.e. Social, Educational

and Economie.

(1) In social indicator there were five criteria and educational
indicators there were two criteria.

(iii) In economic indicator there were four criteria. Thus there were

11 criteria used in the Mandal Commission Report.
(&) () only @ () and (iii) only
(©) () and (i) only (D) (ii) and (i) only

(E) Answer not known

\HemeugmeuarauhpieT wem o Slepsr SPs@sGurl GsTifusmiw stlurer
Safimi( £E5dT) TS| wiTanal 7

(1) @BIEs Speamnunrang supsh, sdell whph AumnmeTTEnTh erénn ppeim
EGOET i sener LiwsruEg S wjcrarg.

(1) saps mhlsn g@e ghs saaCstasesn whpd sodl Eiler gl
Braor( sereyGamds @b LLaTURES] GuDDE.

(iil) Qummenngmy Eden_gulld préng maaCsrbsd LudaLBSSOUCLan.
s Quorgsd 11 sereyGsrdsdr wemid  sdlesdr  sibléamsullen

LIelTL (B L U (BleTamen.
(A) () vi@b (B) (i) whpd (i) we G
(C) (i) whmb (i) w b (D) (1) whmud (131) wiGib

(E) e Qsflusiidena
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158. What was the cause for high inflation in India?

(A) High demand
Weaken rupee against the dollar
(C) Low production
(D) Low money supply
(E) Answer not known

Bpfwndfldr uesrelsmd sFswons Birlushster e
(A) =z Coama

(B) Lraymée erdgnen mumi wiliy mena,

(C)  meopeuner o husd

(D) @wenpeurer Lewr yafl iy

(E) ehlen Gpflueicaa

159. Arrange poverty eradication schemes in chronological order.
1.  National Rural Livelihood Mission
2.  Rajiv Awas Yojana
3.  Bharat Nirman Yojana
4.  National Food Security Scheme

(4 1 2 4 3
B) 3 1 4 2

3 2 1 4
My 2 3 4 1

(E) Answer not known

augenn oy SO miseer sre allaslufsd auss.

1. Geélw saps eumpaungmy L i
2. grgia sgeunen Guimgenn

3. ungg Biwrer Guimgenn

4. Gsflw eeawrey urgsmiys St

A 1 2 4 3
B 3 1 4 2
Gy 3 2 1 4
M 2 3 4 1
(E) dflen Qafwsilcoans

1} 89 CCOSEIVGT/2025
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160. Which of the following is incorrectly paired?

(1) MFAL - Marginal Farmers and Agricultural Labourer
Development Agency

(2) DPAP - Drought Prone Area Programme
(3) DDP - District Development Programme
(40 HDA - Hills Development Agencies

(A) (1) and (2)

(B) (1) and (3)

€7 (3)and (4)

(D) (2)and (3)

(E) Answer not known

Qummpsns qenenn Csiblshbs anpms.
(1) MFAL - g@gpéflew dausmd oppd fHasmus sl Gzmfaraf
wpenGanpos Bl b

(2) DPAP - apcfurd urdésiuc ugdssnan £ b
(3) DDP - omeus cueriéfls S
(4) HDA - weau ugdlssrer qpenGanhps L ib

(A) (1) whpub (2)
(B) (1) wpgud (3)
(©)  (3) wppub (4)
D) (2) wpgud (3)
(E) efen Gsflwehlcena
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161. Identify the incorrect Acronym :

(1)
(2)
(3

(4)

(A)
(©)
(E)

TSC —  Total Sanitation Campaign

NIC —  National Information Centre

MIS — Management Information System

IMIS — Integrated Management Infrastructure
System

(1), (2), (3) and (4) (B) (1), (2) and (3)

(1), (2) and (4) B (4) only

Answer not known

(Sleireumeu emeubpie seupran [FeneriiL &T g 7

(1)
(2)
(3)
(4)
(A)
(©)

(E)

TSC — P B Fawb STEED BLaE oS

NIC ~  Gsflu gseud ewowib

MIS —  Guergrsng seead gpenp

IMIS - gnhdears Cuoardrean e dal Lol e
(1), (2), (3) wpgs (4) (B) (1), (@) wpmb (3)

(1), (2) wpmid (4) (D) (4) w@u

cllenl. &gilweildeane

a1 CCSEIVGT/2025
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162. Choose the correct pair :
1. Bombay plan -
2. Gandhian plan —
= People’s plan -

4.  Sarvodaya plan -

(A) 2 and 3 are correct

\[,9)’ 1 and 4 are correct

(E) Answer not known

sflwner Genarenws CenpEs

1. umbGu S -
2, srpdus SO =
3. &ser o =
4. #hGaunmsws Hiliib -
(A) 2 wpgd 3 &
(C) 1wpgb 4 sf

(E) eflen Geflusidpena

CCSEIVGT/2025
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1940
1945
1944

1950

(B) 1 and 2 are correct

(D} 2 and 4 are correct

1940
1945
1944

1950

(B) 1 whmb 2 &

(D) 2 wppo 4 #A



163. Kokkokka Koompum Paruvaththu Matradhan
Kuththokka Seerththa Itaththu

As Heron with folded wing, so wait in waiting hour; As Heron snaps
its prey, when fortune smiles, put forth your power - Denotes.

(1)
2
(3

(4)

(4)
(B)

ey
)
(B)

To act like a Heron is incorrect.
You must wait till the Time Ripens.

This Kural appears in the Chapter titled “Therinthu
Thelithal”.

“Vaadiyirukkumaam Kokku” is the phrase best suited to this
Thirukkural.

(1) - Right  (2) - Wrong (3) — Wrong (4) - Wrong
(1) = Wrong (2) - Right (3)- Right (4) - Wrong
(1) —Wrong (2)-Right (3)— Wrong (4) - Right
(1) —Right (2) - Wrong (3) - Right (4) - Right
Answer not known

Carstlanss sbuyb Lmaugg WHnse
Eddsrss ss g
EEEprundar smig

(1)
(2)
(3)
(4)

()
(B)
(©

(D)
(E)

Clsrsmasl Gumeny Gewdufieug seup.
gmalb nEmmaugh@s srédmes Ceudm(Hib.
Bégpar Cgfhgdselsd aengud aflsmrsdda @b Qupmeramg.

‘awmg A ma@omnd Garde’ edap Gsrd @eEprunadEl Quinmssnrer
aflan&sih Hmib.

(1) — =M (2) = seup (3) — seum (4) — geum
(1) —pap  (2) =& (3) — &M (4) — saum
O-pap @-of @ -pap  @)-of
(1) — &M (2) — gaupy (3) — =il (4) — &
shilenL @gfwelchensn
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164, “Manaththodu vaiymai mozhivin thavaththodu

Thaananj Seiyvaarin Thalai”.

Statement 1 : Those who speak the TRUTH are always more

superior than those who pracﬁce charity or
penance.

Statement 2 : Those who practice charity and penance are far

better than who speak the TRUTH.

\,(dn/ Statement 1 — Correct

(B)
(©)
(D)
(E)

Statement 2 — Correct
Statement 1 and £ — Correct
Statement 1 and 2 — Incorrect

Answer not known

“weargdarh seumbenin Qumfulidar saustasTh

srangsblels aurflen g’

anfmy 1 : eumibenw Guesuefsdr gmemb, e Geluafsoer ol

Fmbsarsdr,

snpm 2 3 eumiennGw Guflemmgumb gramb, geaub GlaiuaGy fAppseur.

(A)
(B)
()
D)
(E)

s 1 — &l
apmp 2 — &l
sadm 1, 2 — &M

spp 1, 2 - saup
shilen Glgflwehldana
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165. Match the following type :
(a) Iyotheethass Pandithar
(b) Ramalinga Adigal
(¢} Jotiba Phule
(d) Syed Ahmed Khan

Tahdhip-ul-Akhlug
Gulamgiri

Thiruvarutpa

-l L

Oru Paisa Tamilan

@ (M) (© (d
A 1 2 8
WB 4 3 o
(C) 4 3 1
D) 1 2 4

(E) Answer not known

@ b =

Qunrszs.
(8) =Cungdsred udmgst
(b) @omosliies g s

(e) Cmgrdur yGe

(d) sswug sisng srer

Sl U1- - g b
(EaumiDE
@meugpum

G auend sblper

ol L o

@ ® @ (@
(A 1 2 3
(B) 4 3 2
(C) 4 3 1
(D) 1 2 4
(E) eflen Asfweherena

Q3 BD =
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166. Assertion [A]

Reason [R]

K.M. Balasubramanian, author of South Indian
Celebrities compared Dr. C. Natesa Mudaliyar to
Mahathma Gandha.

He was the epitome of love, character, tolerance,

compromise and he was the heart of Justice
Party.

(A) [A] is true but [R] is false
BT Both [A] and [R] are true and [R] is the correct explanation

of [A]

(C) [A] is false [R] is true
(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A] is correct

(E) Answer not known

sehm [A]

TG [R] I

QearafiSu Gruedisdr (South Indian Celebrities)
aenp  Ereblen g Fflor KM,  uresoSnoefluer,
Lrs . £, pGLs peddlwmear wsrdwor . srhduen
U B erppdlarmt.

fhlss  fullen  @swwnss Aspbs plis  gpsdwmi

SETUEED.  ueryd&@En,  durepuerLennd@h, swne
waniureren i@l ahifmsariLmns claridlenni,

(A) spp [A] 6fl sgermd smpembd [R] saup

(B) epp [Al, smperb [R] @genfin #f Guoagnd smemd [R] sbm
[A] e sfiwren cllandsib Eb.

(C)  smpm [A] gaugy sryend [R] &

(D) sy [A]l smpemd [R] Brespin &, mgema smembd [R] spp
[A] eneu eflerdsalldensa srabiug &l

(E) eflen. Qsfwaildena
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167. Which of the following statements are true about Ramalinga Adigal?
(i) He said that apart from musical Instruments the mind should
unite.
(1)) He started night schools for farmers.

(i) He said that through human charity one should get full
benefit in life and be one with God.

(A) (i) only BT (i) and (iii) only
(C) (i) and (ii) only (D) (ii) and (iii) only

(E) Answer not known

Eomoditis sgsamery ubfly abss snis sflurag
(1) Eess smellsd ;ﬂl‘rﬁg] wanmb el Geusmpib eTempiri.
() efleasmiserssrs @rey Cpmy weralewg Clgm_ridermt,

(ili) weflzs Qsram_mppe ppard ampelid Y  Uweard  Gubg

EennCGuwn® genn GeudmGid stépri,
(A) (1) wi@w (B) (i) wpgub (iii) wo G
(C) (1) whpubd (ii) w Fub (D) (ii) whgs (iii) we G

(E) cflenr Qsfwelcsema
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168. Assertion [A]

Reason [R]

In 1930 Muthulakshmi Ammaivar introduced in
the Madras Legislative Council a Bill on the
prevention of the dedication of woman of Hindu
temples in the "Presidency of Madras’,

The Bill which later became the Devadasi
Abolition Act, declared the “Pottukattu
Ceremony” Illegal.

(A) [A] is true but [R] is false
(B) [A] is false but [R] is true
\'CL’J' Both [A] and [R] are true and [R] is the correct explanation

of [A]

(D)  Both [A] and [R] are true but [R] is not the correct explanation

of [A]

(E) Answer not known

sapm [A]

sryamb [R]

1930-& Godranan s ivamsdd apdsieriall sybenwowird
Gedrenear wraremgila Ebm Csreldomgndegy Cuersd

‘witbuefldsiufeaes sHOUE"T  agud  wlsnsrae
ol psiiuGsSem,
et Caaugrfl gfiiiys sl wrs wrflu @uowCengr

Lurlfs  sLBb  sofiE  pugsies  sUsbeo
Ymbumargy eren esqfilehlbsm).

(&) [A] #A speme [R] saip
(B) [A] seumy sparmed [R] s
(C) [A] wppub [R] &M Gugub [R], [A] Ber sfwrar efendsih

(D) [A] whgnb [R] &M ayamma [R], [A] lien sfiwnear ailendsiodbe

(E) eflen_ Gsfusefdena
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169. Assertion [A] : Under the leadership of Rajaji, Congress decided

to boycott Simon Commission in Chennai.

Reason [R] :  The Simon Commission had only Whitemen as

members that is no Indians.
(A} [A] is true, [R] 15 false
(B) Both [A] and [R] are true, and [R] is the correct explanation
of [A]
(&1 [A] is false, [R] is true

(D} Both [A] and [R] are true, and [R] is not the correct
explanation of [A]

(E) Answer not known

sapm [A] ; Glsemmenba Grrgrg seweswlld e Lpsseigl
Gumgm’ Ldans b5 Apge| GELLGLLL S,

srpeerih [R] @ evswer @upeld s pudent sevamaumd  Qeudranemuy,
Sgmeugl wipeiler EhSwGr Gldene.

(A [A] sf, [R] paug

(B) [A] wpgn [R] Grerpd &fl, Cogin [R], [A] - sfurer sfardss
DD

(C)  [A] peu, [R] &

(D) [A] epme [R] @ren@on #f, Cuogin [R], [A] - sflwrer dletéswda

(E) «flen. Qpfwecidenss
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170. Match the Works/Books with the author’s :

(a) Vetriverkai l. Awvalvar

(b) Nanneri 2,  Kumara Kurubarar

() Neethinerivilakam 3. Athiveerarama Pandivar

(d) Nalvazhi 4. Duraimangalam Sivaprakasar

(a) (b)) (& (d)

@ 1 3 4 2
B 1 4 2 3
V&3 4 2 1
Dy 3 4 1 2

(E) Answer not known -

Epsa. mrasaa ffuirsCan® Gummssead,

(a) QeupfiGeubens l. gemeauwnt

(b)  merGland 2. GurGEHUIT

(¢) BEHQnA elevéain 3. dflefivome uremg

(d) pevaus 4.  gepodisan Aaldnsrst
(@ @® @© ()

(A 1 3 4 2

B) 1 4 2 3

(C) 3 4 2 1

D)y 3 4 1 2

(E)  eflan Gsfluwsiihens
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171, Match correctly the Excavated places with their corresponding

Districts,
(a) Azhagankulam
(b) Vasavasamudram
(c) Kodumanal
(d) Keezhadi

(a) () (o
A 1 4 3]
(B) 4 2 3
(C) ) 3 1 | 2
W4 3 2

(E) Answer not known

2
1
4
1

@

Lol O S o

Sivagangal
Erode
Kanchipuram

Ramanathapuram

Senofgidrer wireul L SuLear urmssls srl(Hs.

(a)
(b)
(c)
(d)

(4A)
(B)
()

5l e meu e mj el
=B e HaTLD
suseUSOBETD
Gl&m{i Loamrd
fipa.
(@ (b (o
1 4 3
4 2 3
3 1 2
4 3 2

(D)
(E)

silen Glgflweh dana

(d)

- e B

1.

2
.
4

Hausmians
R
SR LD

B rmoETEL T

101
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172. Match the diseases 1n Column I with the site of infectious in

Column I :
Column 1 Column 11
(a) Dengue 1. Intestine, Brain
(b) Polio myehtis 2., Skin and Blood
(c) Measels 3. Respiratory tract and Nervous system
(d) Chicken Pox 4, Skin and Respiratory tract

(@) (b)) () (d)

W) 2 1 4 3
(B) 2 1 3 4
c) 2 4 3 1
M) 1 3 2 4

(E) Answer not known

Epssrggan Cpmisgrb (Column I) sigeme gpu@e  undoygsaangb
(Column II) Qumrsss

Column 1 Column 11
(a) Glrhus 1. @ e, apener
(b) @ervldrener awngh 2. CGgned, Grssh
(c) =L ihenin 3.  seursdurens, BribL e b
(d) Hewarbene 4. Gane, seunsliuneas

(@ () (¢
(4) 2 1 4
(B) 2 1 3
) 2 4 3
D 1 3 2
(E) dle Qafuddaa

B e i O
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173. Assertion [A] : Cobalt-60 is useful in Cancer therapy.

174.

Reason [R] :  Cobalt-60 is source of v - radiations capable of
killing cancerous cells.

( Both [A] and [R] are correct and the [R] is a correct
explanation of the [A]

(B) Both [A] and [R] are correct but the [R] is not a correct
explanation of the [A]

(C) [A] is correct but [R] is incorrect
(D) Both [A] and [R] are incorrect
(E) Answer not known

smbm [Al D Gamurdn —60 YbpCemi Afseslie LweruREDg).

srramb [R]  : Gemuman -60  smor-sfrsefler  apawrs Grudul @
HImCrmi Cledsmer Bflés audeaog.

(A)  [A] opgd [R] &f Gugis [R] ereug [A] ssrer sflurear eflarésn
(B) [A] wppn [R] #f wemd [R] eerug [A] ssnar sfluner eflarass

[a)ebene
(C) [A] &t gpammed [R] seup

D) [A] wpgn [R] @rar@on gaup
(E) dler Gsfusiaoma

In Tamil Nadu, Vidival Payanam Scheme introduced in the
month of
& May, 2021 (B) December, 2021

(C) March, 2022 (D) October, 2021
(E) Answer not known

SUIpEM g, g vweard Sliib quCurg Sflopstiu@ssiuc L g ?

(A) Guw, 2021 (B) wsbur, 2021
(C) wma, 2022 (D) sCGumut, 2021
(E) efla 5 el danay
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175. Assertion [A] : Climate, Relief, Soil and Natural resources are

influencing the distribution of population.

Reason [R] : Birth and death rate does not affect the

N7

(B) [A] is false, but [R] is true
(C) Both [A] and [R] are true, and [R] is the correct explanation -
of [A]
(D} Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
(E) Answer not known
sehm [A] : srafiee, BofCsmppb, v wHpn Bubes auerdisd
Gursnpeneu LEEET GlemensL LIfeuenend
s HULEssHeamman.
smaeh [R] ¢ dpoy, @poy  dfghsd  oésdr Gzrensl  Ugauene
undssehldienan.
(A)  [A] &fl, spermes [R] soum
(B) [A] seupi, apenmed [R] #fl |
© (Al wope [R] @ren®i oft, wppd [R] sénug [A] sarer sfiuner
ahilemda b
D) [A]l wpmd [R] @remGd &M, semd [R] aeg [A] wWer sfiurer
ehlemdsih [3)dena
(E) &8en Qafludfldama

distribution of population.

[A] 1s true, but [R] is false
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176. Match the following :

Shifting cultivation
(a) Ladang
(b) Milpa
(c) Roea
(d) Ray

(a) ) @ (@
w1 o4 3 2
® 3 4 1 2
(C) 4 2 3 1
M 2 3 4 1
(E) Answer not known

Sipsam_supenn Qunriss

(a)
(b)
(c)
(d)

(A)
(B)
(C)
(D)
(E)

& LiGluwire) Gauarmamentn:

EL_TTR
Wlebum

Crr&sn
Gr

(@ ) @© @

1 4 3 2
3 4 1 2
4 2 3 1
2 3 4 1
aien_ Gaflueiidamea

Lol A e

Region
Malaysia
Vietnam
Brazil

Mexico

wGadlwm
el mmib
GGr#le

weo W B

Hwdetl Gam
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177. Match the following :
Author Work

(a) Amoghavarsha 1. Mahapurana
(b) Jinasena 2. Kavirajamarga
() Gunabhadra 3. Kadambari
(d) Bana 4. Adipurana
@ ® © (@
(A) 2 4 3 1
WBT 2 4 1 3
() .2 3 4 1
(Dy 2 3 1 4
(E) Answer not known
Spémem_sutenm's Aummiss.
2 il ey
() =Gurseiant 1. wamygmesmh
(b) HarCGsani 2, selprguoniésih
(€) wawrLdon 3.  snsbuf
(d) et 4. ayfygremd

(@ M) @ @

Aa) 2 4 3 1
(B) 2 4 1 3
(C) 2 3 4 1
(D) 2 3 1 4

(E) eflen_ G el deane
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178. Which of the following statements are true about Velu Nachiyar?

(i)  Velu Nachiyar was the daughter of Chellamuthu Sethupathi,
King of Sivagangai.

(i) Velu Nachiyar's husband was assassinated by the Nawab
Army and to attack the Nawab and British. She joined with
Gopal Naicker and Hyder Ali.

(iii) In 1790, she died due to 1llness.
9 (i) only B) () and Gii)
(C) (i) and (ii) (D) (ii) and (iii)
(E} Answer not known
Epssar sappsefe Caugprsfunt uhfl ag/ama sfliureaaa 7

(1) Cagipréflumt Hausies serrer Geoawss Csgudlear weed
S EUTIT.

(1)) Cagpréflurflar semeat pamfer UeLsamd GamdolLlL ST
SuflCaovmrs snémd Cpréssds i dr Carund pmudst, @ansT el
A GwimmLen s anfl senwndsmit.

(i) Ceugyprefunt Cpmuypm 1790 -Eé Epbsn.
(A) (i) v @o (B) (1) whpubd (iii)

(C) (i) wpmb (ii) (D) (ii) whgn (iii)
(E) eflen Qaflueiidana
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179. Which of the following points were accepted in Gandhi-Irwin Pact?

(1)
(11)

(1id)
(iv)
(4)

B
(C)
(D

+ (E)

People allowed to make salt for their consumption.

Not releasing the political prisoners who had not indulged in
violence.

Permitted picketing of foreign cloth shops.

Reduced the death sentence of Bhagat Singh and his Comrades.
(1) and (1) only

(1) and (ii1) only

(ii) and (ii1) only

(1i) and (iv) only

Answer not known

Epsam_apfle snhd-Grefldr guUEssHd ThpsGarderiulL Sbsksdr
eTEikald Y

()
(i1)
(i)
(iv)
(A)
(B)
(C)
(D)

(E)

eLenL SW Lwetur R e pusd Gainn sigundiing.

auergpenpuiies  FRULNE srflud esdsmer Gstimks  Aaepula
SOEULILIS.

2ipflug geflsenar clh@n semsafler aper gilurlL fisener ks
Bl 1L

usifn  whmb wmegm  Csnphserde  dfldsiuc wren
ST G ETENLIE (HENDUILE.

(1) wpmd (i1) e Guo
(1) whpt (111) wi @b
(1) whpb (111) we G
(i1) hmb (iv) wi G
sflen Qg flucidens
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180, Consider the following statements and identify the correct answer :

(1)

In 1918, Madurai Harvi Mill labours strike happened.

(2) B.B. Wadhiva was the labour union leader of Madurai Harvi
Mill.

(3) Dr. P. Varadharajulu's speech was an eye opener to the
government.

(4) Dr. P. Varadharajulu was the Author of “Prabanja Mitran”
Magazine.

(A) (1) only (B) (2) only

SO (1), (3) and (4) only (D) (1), (2) and B)only

(E)

Answer not known

HemaumeuanehpieT eTena FRITETEnE 7

(1)

(2)
(3)

(4)

(A)

©
(E)

wgemuds aonrefl fld Gsmflaonarisdr 1918-Fd Cawne Fpsssa

PRI L EaTiT.
wgleny aprrell Bd Gemfibotiss seasunms G5, sumgum EEEsTT.

Lrdlr, 9. aggmragy  Ssahsdflar  Czmfarert  asrey  Guss
sifaThssden sansenark #psss srramomusihg.

LmgLf. 9. augsriegy  drugse  Bigflrer”  aemp  ugdlfisensenw
mLddlerir,

(1) w @i (B) (2) wcpo

(1), (3) whmb (4) LG (D) (1), (2) whpib (3) wGb
eflan_ Glsflwefdmea
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181. False statements about Subhas Chandra Bose are:

(1)

(i)

(i)

(A)
(B)

Subhas Chandra Bose was born on 23* January 1897,
in Calcutta, West Bengal.

The Government of India has declared his birthday,
23 January as “Parakram Diwasg”,

To honour of Subhas Chandra Bose's legacy, 23 January is a
National hohday.

(iii) only
(i) and (i1) only
(i) and (iii) only

@7 () and (iii) only

(E)

Answer not known

suney iy Cumenenl upll areuimb smbmsafld sauprerg

(i)

(i)

(i11)

(A)
(B)
(©)
(D)
(E)

sunds sEET Cumdy gereudl 23, 1897 mdnp CupE eismaddldn
sdsgsreta Gphsm.

B mrs  saurg Gpgs premer gmemeufl 23 b GsHenw
gl prar adny fleflsgidreng.

suree  shflyr  Cunellér  ummbufuges Curppe  eaensulls
meneufl 23 b Cgdl Ceflw BRapep mrammeb.

(iii) 1o G

(1) whgub (1) wiGib

(1) wpgd (ii1) wi G

(1) whmb (1i1) we Fb

sflen. Glsfluebdens
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182. Match the Presidents listed below with the distinguished guests
who attended the Republic Day celebrations held under their
leadership.

Presidents Distinguished Guests

{a) Droupadi Murmu Cvril Ramaphosza
(b) A.P.J. Abdul Kalam Prabowo Subianto

1
2

(¢) Pranab Mukherjee 3. Vladimir Putin
4

(d) Ram Nath Kovind Barack Obama

(&) () (© (d

A 1 4 3
B 2 3 4
w0 § -4 <4
D) 4 =2 -3

(E) Answer not known

i -

@ wrs Sar allipreflie ganarenn audlEsE S ITEE SENEGEIENTIL D BiGuHL 6T
Apiy cBppdlaras swbs Cendr clpHeaengyb dunmsdls sm bHs.

GlaLITES g@acuitsar fipuiL) eflgpbSlarhser
(a) SAQgerudl apinp #lfléo pmoGumer
(b) &.9.CGx. igemwmb SyGuneunr sSwranGLr
aflemmg it Lyigelr

LITT&E EpLimnm

(c) @permis gpasig]
(d) grb prg Ganellhs

e, 82 B

(@ M) (& (d)
(A 1. 4 3

2
(B) 2 o 4 1
(C) 3 4 1 2
(D) 4 2 3 1

(E) eflar Qeflucfidema
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183. Directorate of Vigilance and Anti-corruption Tamil Nadu Toll free

No.is:

&
@)
3
@)
A)
©
(E)

1062 and 1963
1064 and 1965
1066 and 1967
1068 and 1969
(4) A (@

(1) D) (3)

Answer not known

SADETE smpd sHUY whpb sdarsTeallys gen Buisamsiddr Bawus
<D ENLOLIL] STt

(1)
@
(3)
(4)
(A)
(C)
(E)

1062 whpy 1963
1064 whgns 1965
1066 whmy 1967
1068 whmyo 1969
@ | ®) @)
(1) D) 3)

sflen Glgflwefldene
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184, Find out the correct statements on election

(1)
(11)

(1)
(A)
(B)

In all the states elections EVMS were used in 2003.

The commission took a historic d_ec:isiun to use only EVMS for
the Lok Sabha election in 2004.

Two milhion EVMS were used in this elections.

(i) only
(1) and (ii1) only

@)~ () and (i) only

(D)
(E)

(i1) and (iii) only

Answer not known

Catgd ubhflu #fluner spmsamad seam s,

(1)

(i1)

2003 edar wrfle Cpigdld arsEn  ufey  Bupdind
L@ (S L g

wdsarenand  Gatga 2004 ewrsggl ofley @upHmb  wCHib
LerL(RES UGB sremmid eugeimhm aprenel eHEFIETaTE <SpeneRTLLD.

(il) @renp Hodudr ardg’ uvfe Gusdnd E6ss Cstsdo

(A)
(B)
(C)
(D)
(E)

UL B ESULCL g
(1) w ([Hib

i) opgud (i) 1o Gus
(1) wppbd (1) wED
(i1) whmb (1) wi @i
eflan Glsfluwefdana
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185. Choose the right matches :
Committees
(1) Committee on Panchavat
Raj Election

(2) Committee on Rationalisation
of Panchavyat statistics

(3) Committee on Panchayat Raj

Chairman

— K. Shanthanam

—  G. Ramachandran

Training centres - V.K. Rao
(4) Study team on Panchayat Raj
Administration —~ V. Iswaran
(A) (1) and (3) are correct \,{Bf (1) and (4) are correct

(C) (2) and (3) are correct

(E) Answer not known

sHlwreraepGorl Cummsss
GO

(1) ugsnusg 1y Caree G

(2) LIEREFTILIEGS T LElumiiey
wihmed veraflwd @wop

(3) LighEmLggs T uudhd @
(4)  ugserugs rrg Breurss &g
@) (D) opps (8) oL s

(C) (2) whmbd (3) wGid &M
(E) e&flen Glg el dana
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(D) (3) and (4) are correct

sensuaut
- K. shanmenb

-  G. pmosenfnen

- V.K el

— V. reiveunen
(B) (1) wppb (4) wlHib &7
(D) 3) whmid (4) wWCED &f



186. The correct statements on the Directive principles of state policy are

(i) The Directive principles of the state policy are provided in
Article 36 to 51 of the constitution.

(ii) The framers of the constitution borrowed this idea from the
Spanish constitution.

(iii) The Directive principles form the soul of the constitution.
(A) (1) only
BT (i) and (iii) only
(C) (1) and (i1) only
(D) (ii) and (iii) only
(E) Answer not known

s anflen G Apdopepsdr Bgrer sfwrar shpreng).

1) sips auflsrc Gib Apflopapadr gy 36 apsd 51 ear sirsancnda
GlesrRésiiu’ [Heang).

(11) ;ﬂlralmu:;u:mu o (peunrddlueuisdr  @Es  Spsenaranw  suurefles
HrFeolSe b @ubhnent.

(i) g euyflsm Gib Apblapenmser ereriigy sypeeniolillar Syemoraungis,
(A4) () wEo

(B) (1) wpgw (1ii) wi @b

(C) () bpgb (i) we@o

M) (1) wpgus (1) we o

(E) e Gsflucidoa
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187. Assertion [A] : Indian constitution is federal in nature.

Reason [R] - Indian constitution provides dual citizenship like
United States of America.

(A) [A] is false [R] is true

(B) Both [A] and [R] are true; and [R] is the correct explanation.
of [A]

&7 [A]is true [R] is false

(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A]

(E) Answer not known
sapm [A D EESw ST e oL g grarL&=ib Sal L m A
ST QELOLIL| BHiD.

smanrd [R] @ @ifu srflueeooy géedu oQufss prEesd (USA)
Gumee @rcen & @y fanweny eupridludreang.

() sapp [A] geup smyams [R] o

(B) sim [A] whime srpemd  [R]  sflureress @b,  woppd
amreand [R] snpp [A] ssrer sflwrer aflendsiomgh

(C)  snpp [A] #f smpemd [R] gay

(D) spm [A]l whomd smend [R] sflwreeme s, pemd smyamb
[R] sy [A] m #flwins eferssetdeanen

(E) eAer Gpfiveaiidana
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188. Assertion [A] : Indian constitution has the qualities of both

rigid and flexible.

Reason [R] : The constitution was amended more than

(A)

100 times without changing the foundations of

the constitution.

[A] is true but [R] is false

\}Bﬁf Both [A] and [R] are true; and [R] is the correct explanation

(©)
(D)

of [A]
[A] is false, but [R] is true

Both [A] and [R] are true, but [R] is not the correct explanation
of [A] is correct

(E) Answer not known

apm [A] P @Ry srsenoy Aedlupd wipgd Opdprs sdaeosamen
s rair(Hierarg).

smpewb [R] 1 @pdu spsenwdi Qe s liueenw wrhpmoe @) i6u ey

(&)
(B)

(C)
(D)

(E)

100 &g Cupul e wipplisda Qanan@euriuc Hdrerar,

sapm [A] &l ayennér smrenn [R] saum

smpm  [A] smers [R] @rargon  sfluremesd EID  WwhEb
smrad [R] spm [A] ssnar sfunen eflarsswngb

safim [A] sup sgeamd smremd [R] o4

spp [A] smramd [R] @ran@n sfwraesiser myeb, syamd
siyamd [R] sapm [A] ssrer sflwner efierssn §oamea eremug sl

eilen GlEflwehldana
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189. The reading in a field book are as given below

To C
{in meters)
1560
20to D — 120
80 — 50 to B
30toE — 50
From A
The area of the field is
&) 6550 m?
(B) 17550 m?
(C) 5750 m?
(D) 5650 m*®

(E)

Answer not known

flo sweoa ussssde Feowrang Geaumony wHiysd @hlésiu’ Feramen

(A)
(B)
(C)
(D)

C euany
(B )
150
20to D — 120
80 +— 50toB
0toE — 50
A Welmbg
Hleogdler LmiLeray eremLg)
6550 52
7550 52
5750 A2
6660 52
eilenL. Clgfueiidae

(E)
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180. A person distributes his pens among four friends A, B, C and D in

191,

the ratio %%%% then the minimum number of pens that the
person should have is
(A) 23 | (B) 55

JBr 57 (D) 65

(E) Answer not known

BT sarguenw preng panutsdar A, B, C wpmb D mpfuaitse sag

Guenndsener %—i—%% Eu difigisefid dFCundsdpnt aafd s

wadSinds Cauamyw Cueamssallan smppsuls aaraisms
(A) 23 (B) 55

© 57 | D) 65

(E) aflen QsMuchdena

If the ratios formed using the numbers 2, 5, x, 20 are in the same
order of proportion, then the value of x is

(A) 50 (B) 10

ey 8 | D) 4

(E) Answer not known
2, 5, z, 20 gAu carsaar =505 wloslld Lwemifigs e
alldlgtiser allflg sowrs Gminden, X ar wdiy

(A) 50 (B) 10
(C) 8 (D) 4
(B) ela Bsfusidame |
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192. If the HCF of 108 and 234 is expressible of the form 23x-51 then
what is the value of x ?

5 3 (B) 2
<) 4 (D) 5
(E) Answer not known

108 whpe 234 sAueupar SoGum Gurg aEsfew 23x—51, adap
augchled erapdlemmed x-ar wHUIL wing?

(A) 3 (B) 2
© 4 (D) 5
(E) &flan Qaflusfidea

193. Find the HCF of the polynomials x*+x®-x+2 and

2x? —5x% +5x—3.
vﬂﬁ x?—x+1 (B) :;E+:-:-1
C) -Tx"+Tx-1T M Ta*-Tx+T

(E) Answer not known

P4 x?—x+2 wpgd 2x -5x% +5x -3 ghAu vegpuys Carmasafier
B.Gun.sr. srers.

(A) x*-x+1 (B) x®+x-1

Q) -Tx*+Tx-7 M Tx:-Tx+7
(E) eflen. Gsfwelicoena
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194.

195.

Simplify : (47 +472 +430 (4714472 4 475,
63 19
o B} ==
@) 19 ®) 63
21 64
A el DY —
ey = ® o

(E) Answer not known

smags (47 +47%+47 0% (4 4472 4475,

63 19
(A) T (B) 53
21 64
o 2L 64
(C) o i) 71

(E) efleo Qg fiwueidana

The average mark of 25 students was found to be 78.4. Later on, it
was found that score of 96 was misread as 69. Find the correct mean
of the marks,

(A) 77.32 \(B) 79.48
(©) 78.42 (D) 78.24

(E) Answer not known

25 wrewmatsafiar sprefl wdoGuedr T8.4. @hg 96 adp wHourens

69 erang SR IEETE erBESOUC LG sam_fluitio L g sraffle,
Al Auanserssran sflurar syrefawus srens.

(A) 77.32 (B) 79.48
(C) 78.42 (D) 78.24
(E) dflen Qsfwefdena
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196. D, F, G, H, I and M are sitting in a row. | and M are in the centre,
and F and D are at the beginning and at the end. G is sitting on the
left of D. Then who 1s sitting on the right of F?

W’ H (B) I

(€) M D) G

(E) Answer not known

D, F, G, H, T upgid M = 8CGunmt suflenswins sorpgerarent. I whpb M

2 ACwnt ewwidagid, F opgb D 58Curt gpedan, Gofursea)b
swikgdaerer. G eaoat  D-flér @Lgunsfld  motbgerer.

sitigwnamd F-ar ecsagiuypgdla swipfmiog wis

(A) H (B) 1
© M D) G
(E) eflen. @sflusieaemns

197. If A =26, SUN = 27, then CAT =?
(A) 24 (B) 27

a7 (D)} 58
(E) Answer not known

A = 26, SUN = 27, arafio CAT = ?
(A) 24 (By 27

(Cy 57 (D) 58
(E) &flan @gfweidaa

198. If @ # b #c is given, which one of the following is correct?
(A) bzaze
(B) a,b,c are distinet
(C) a=b=c
BT azcora=c

(E) Answer not known

a#b#c aes Qarésiiuymisnd Aevamauarabpd ag o7

(A) bzaze
(BY a,bc Sdlwena GleusiGauprerene
(C) a=b=c

(D) a#c mdag a=c
(E) efen Qs fwefcena
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199,

200,

The missing term in the given alpha-numeric series is
2X2,7T4,14P 12,23 L 48, ;
(A) 34 H 240 (B) 34 H 144
(C) 30H 100 (D) 30 H 120
(E) Answer not known

&Gy Qen@ésliu Dever eran epss Gsm e sAPuLL gy
2X2 7T4,14P 12 231 48, :
VAT 34 H 240 (B) 34 H 144
(C) 30H 100 (D) 30 H 120
(E) eflen. Qafwsdena

Two unbiased dice are rolled once. Find the probability of getting
the product of face value is 4 or the difference of the face value is 5.

1 5]
(A) % ﬂ!vﬁ
1 i
(C) 5 _fﬂlﬁ

(E) Answer not known

Grem) (papurar useLsd emlolu@id  Qurgs  apswdousaer
Qupsse Lwdr 4 sbem @ws wfuyssles dsfursd b o6 Boss
Bapsasy?

1 b
il 1 ® 3
1 ' T
C) = =E
(C) = (D) 36
(E) eflen Qsfwahiidranas
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20256
Question Booklet

Part-A (Tamil Eligibility-Cum-Scoring test), Part-B (General Studies)

and Part-C (Aptitude and Mental Ability)

Duration: Three Hours] [Total Marks : 300

Read the following instructions carefully before you begin to answer the guestions,

P

10.

IMPORTANT INSTRUCTIONS

This question booklet contains 200 questions. You should not remove or tear off any sheet
from this question booklet.

Answer all the questions, All questions carry equal marks,

Before shading the Question Booklet Series Number in the OMR answer sheet and
answering the questions, you shall check whether all the guestions are printed serially
and ensure that there are no blank pages in the question booklet. If any defect i3 noticed

[ L8 QUESTIOTE MRS HLLE e reporited to LRo  Seenim vig

complete question bookle n_defe
You must write your register number in the space provided on the top right side of this
page. Do not write anything else on the question booklet.

Each question comprises five responsas (anewers) © Le. (&), (B), (C), (D) and (E). You have to
select ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your
answa'stm&t.lfymihalﬂmt.ﬂmmaremmthﬂnnnamﬂactanswer,shnﬂEthﬂmewhieh
you congider the best. If you do not know the answer, you have to mandatorily
shade (E). In any case, you should choose ONLY ONE answer for each question. If you shade
mare than one answer for a question, it will be treated as a wrong answer even if ome of the
answers shaded by you happens to be correct.

You should not make any marking in the question booklet except in the space provided
at the last pages of the question booklet, which can be used for rough work. This
instruction should be strictly adhered to.

For questions in SLNos. 101 to 200 (Part-B & Part-C), English version is final

You are not allowed to take this question booklet and the answer sheet out of the
examination room during the time of the examination.

After the examination is over, you must handover your answer sheet to the Room
invigilator and vou are allowed to take the question boeoklet with you. ;
Failure to comply with any of the above instructions will render you liable for such
action as the Commission may decide at their discretion.
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